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1. Macnopr ¢oHaa OLEHOUHBIX CPEACTB
1.1 ObaacTh NpUMeHeHusI

@OH/I OICHOYHBIX CPEACTB MpeJHa3HAueH JUIsl MPOBEPKH PpE3yIbTaTOB OCBOCHHUS Y4eOHOI
JUCUUIUIMHBl TIPOTPaMMBbl TOATOTOBKH CIIEIMAICTa cpeaHero 3BeHa mo crneuuanbHoctu 09.02.07
WNudopmanroHHble CUCTEMBI U IPOTPaMMHUPOBAHHE.

B pesynbrare ocBoenust nucruminasl OI'CD.04 MHocTpaHHBINA A3bIK B MPOGECCHOHATBHON
JESATeIbHOCTH 00yYarOIUIACs TOKEH YMeTh!

— MOHUMATh OOMMKA CMBICT YE€TKO TPOU3HECEHHBIX BBICKA3BIBAHUN B Ipeaenax
JUTEPaTypHOI HOPMBI Ha U3BECTHBIE TEMBI (TIPOQecCHOHATbHEIE U OBITOBBIC);

—  I[OHUMAaTh TEKCTHI Ha 0a30BbIe MPO(ECCHOHANILHBIE TEMBI;

—  ydacTBOBaTh B JHAliorax Ha 3HAKOMBbIE OOIIME W NMPOQPECCHOHANBbHBIE TEMBI; CTPOUTH

MIPOCTHIEBBICKA3BIBAHUS O ce0e U cBOed Mpo(heCcCHOHATLHON NesITeIbHOCTH;

—  KpaTKo 0OOCHOBBIBATH M OOBSICHUTH CBOM JACUCTBUS (TEKYIINE U TUIAHUPYEMBIE); THCATh
MIPOCTHIE CBA3HBIE COOOIIEHNUS HAa 3HAKOMbIE WJIM UHTEPECYIOIIHE MPO(ecCHOHANTbHBIE TEMBI.

B pe3ynbraTe 0CBOSHHS IUCHUIUIMHBI O0YYarOIHICs TOMKEH 3HATH:

—  TpaBWJIa IOCTPOCHHS MPOCTHIX U CIOXKHBIX MPEUIOKEHUH Ha IPOEeCCHOHATBHBIE TEMBI;

- OCHOBHBIC 00IIEYITOTPEOUTEIIBHBIE II1aroiibl (OBITOBas M MPOQeCcCHOHAIBHAS JICKCUKA);

—  JIeKCUYEeCKUH MHUHHUMYM, OTHOCSIIMKCSA K OMUCAHHIO MPEJAMETOB, CPEICTB M IMPOIECCOB
poeCCHOHATLHOM 1A TETFHOCTH, 0COOCHHOCTH MPOU3HOIICHHS,

—  IpaBuWiIa YTEHHs TEKCTOB MPO(eCcCHOHANBLHOM HAMIPABICHHOCTH.

DoHJ OLIEHOYHBIX CpE€aACTB MO3BOJIAECT OLICHUBATH OCBOCHHbIC YMECHHSI, YCBOCHHbIC 3HAHUSA

Pe3yabTaThl 00yueHus @opMbI U METOAbI KOHTPOJISI U
(ocBOEHHBbIE YMEHHUs1, YCBOEHHbIE 3HAHMS) OIleHKH Pe3YJIbTATOB 00y4YeHu sl
yMeTh: OTuer no mpakTU4eckon padore,

— NOHMMATh OOIIMIM CMBICH YETKO NpousHecéHHbX | OTYET Mo caMoCTOATENbHOM padorTe,

BBLICKA3bIBAHUM B Mpelenax JauTeparypHoil HopMbl Ha | JuddepeHuupopanHslil 3a4eT

U3BECTHBIE TeMHI (TTpodeccroHaNbHbIE U OBITOBBIE);

— TOHMMAaTh TEKCThl Ha 0a3oBbIe MpodeccHuOHATbHBIE

TEMBI,

— y4acTBOBaTh B JHAajoraXx Ha 3HAKOMBIE OOIIHE U

poecCHOHATEHBIC TEMBI, CTPOUTEH TIPOCTHIC
BBICKa3bIBaHUSI O cebe W cBoel mpodeccHoHaTbHON

JCSATEILHOCTH,

— KpaTKO OOOCHOBBIBaTH U OOBSCHUTH CBOU JEHCTBUS

(TeKylue W IUTAHUPYEMBIE); MUCATh MPOCTHIC CBS3HBIC

COOOIIEHUsT HAa 3HAKOMBICE WJIU  HWHTEPECYIOIIHE

npodeccroHaNbHBIE TEMBI.

3HATh: Otuer o npakTHYecKon padboTe,

— mpaBWJa  I[OCTPOEHHMs  NPOCTBIX M CIOXKHBIX | OTYET IO camMocToATENbHOM paboTe,
MpeIoKEHUH Ha Tpo(ecCHOHANEHBIC TEMBI, TectupoBanue,

— OCHOBHBIE 00IIEyNOTpeOuTeNbHbIe rIarois! (OsToBas | Auddepenuuposanublii 3auet

1 TIpo)eCCHOHANIbHASI JIEKCHKA);

— JIEKCUYECKUH MUHUMYM, OTHOCSIIUUCS K OMUCAHHUIO




MPEIMETOB, CPEACTB M IMPOIECCOB MPOhECCHOHATLHON
JeSATETBHOCTH, 0OCOOCHHOCTH MTPOU3HOIICHHUS;

— IIpaBHJIa TEKCTOB

HaITpaBJICHHOCTH.

YTCHUA

npodecCuoOHAITBHOM

1.1 CucremMa KOHTPOJISI U OLIEHKH OCBOEHHUSI MPOrpaMMbl y4eOHOi
aucuuminabl OI'CD.04 UHocTpaHHblii A3bIK B NPO¢ecCHOHAIBHOM 1eTeIbHOCTH

HaumeHoBaHue TeMbl, pa3aeia

dopMa KOHTPOJIS

MexayHapoaHOoe OOIIeHHE.
[Ipencrarnenue u 3HAKOMCTBO

OTyeT no npakTUYECKou padore.

OTYeT Mo caMOCTOSTENHHOM padoTe.

1. OtpaboTka TEKyIlero Marepuana 1Mo KOHCIEKTaM JIEKIHH U
PEKOMEH1yeMOM JIUTEepaType.

2. IloaroroBka OTBETOB Ha KOHTPOJIbHBIE BOITPOCHI.

HedopmanbHsiil pasroBop Ha
U3BECTHBIE OBITOBBIE TEMbI

OTyeT no nmpakTHUYeCcKou padore.
OTt4er o caMoCTOsATENbHON pabdoTe.
- 3y4yenue neKIMOHHOTO MaTepuaa 1o TeMe.

OcCHOBHBIE BUJIbI IEPCOHATBHBIX
KOMIBIOTEPOB

Otuer no npakTU4eckoii padoTe.

OtpaboTka TeKyIIero marepuajia MO KOHCIEKTaM JIeKIUH |
PEKOMEH/TyeMOil TuTeparype.

OT4er o caMOCTOSITEIBHON paboTe.

AnnapaTHoe obOecreyeHue

Otuer no npakTuyeckoi padoTe.

-OtpaboTka TeKyllero maTrepuana MO KOHCIEKTaM JeKIUW u
PEKOMEHIyeMOM JTUTepaType.

OT4er o caMOCTOSITENBHON padoTe.

[TporpammHoe obecnieueHue.
Buns! nporpamm, ux pacnpeneineHue

Otuer no npakTuyeckou padore.

-OTpaboTKa TEKyIIero Marepuania Mo KOHCIEKTaM JIEKIUA |
PEKOMEH/TyeMOi TuTeparype.

OTyeT Mo caMOCTOSTENHHOM paboTe.

- 3y4yeHne neKIMOHHOTO MaTepuania.

OHepaI_[I/IOHHHe CHUCTCMBI

OTueTt 1o npakTHUecKoi pabore.

OT4er Mo caMOCTOSTENBHON padoTe.

1. OTpaboTka TeKymiero Marepuaia 1Mo KOHCIIEKTaM JICKIIUHA U
PEKOMEH1yeMOM JIUTepaType.

[IporpammupoBanue

Otuer no npakTuyeckou padote.

OTyeT Mo caMOCTOSITENHHOM padoTe.

- JlopaboTKa KOHCIIEKTa 110 TEME.

- B TeTpaaM KOHCHEKTOB COCTaBUTh TPH TECTOBBIX 3a/1aHUS
(Bompoca) 1o Teme.

SI3BIKHU
MIPOTPaMMHUPOBAHUS

OTtyeT mo npakTUYECKou padore.

- OtpaboTka TEKyIero mMarepuaia Mo KOHCIEKTaM JICKIHA U
PEKOMEH1yeMOoM JIUTepaType.

OTYeT Mo caMOCTOSTENHHOM padoTe.

- lopaboTKa KOHCIIEKTA 10 TEME.

- B Terpaau KOHCIEKTOB COCTAaBUTh TPU TECTOBBIX 3aJaHMS
(Bompoca) mo Teme.




[TpoexTrpoBaHKre TPOTPAMMHOTO
NpOJIyKTa

OTtyeT mo npakTUYECKou padore.

OT4er Mo caMOCTOSITENNBHON padoTe.

CocTtaBieHHE KPOCCBOP/IA IO OCHOBHBIM M3yYCHHBIM TEPMUHAM
(15 cnoB)

Mup ceTeBoit nHGOpMAaIH

OTyeT no nmpakTUYeCKou padore.

- OtpaboTka TeKyllero Marepuajia Mo KOHCHEKTaM JIKIHH U
PEKOMEH1yeMOM JIUTepaType.

*OT4YeT 10 CaMOCTOATEILHOU padoTe.

- lopaboTKa KOHCIIEKTa 10 TEME.

SA3bIK
nporpammupoBanus Pascal

OTueT 1o npaxTHYECcKoi padore.

- OrpaboTka TEeKyIIero mMarepuaia 1o KOHCHEKTaM JICKIUHA U
PEKOMEH1yeMOM JTUTEepaType.

OTYeT Mo CaMOCTOSTENHHOM padoTe.

- lopaboTKa KOHCIIEKTa 10 TEME.

A3bik nmporpammupoBanus Delphi

OTyeT no npakTUYECKou padore.

- OtpaboTka TeKyllero Marepuaia Mo KOHCHEKTaM JIeKIHHA U
PEKOMEH/TyeMOii TuTeparype.

OT4er 1o caMOCTOSTEIBHON padoTe.

- JlopaOoTKa KOHCIIEKTa IO TEME.

S3bIk iporpammupoBanus C+

Otuer no npakTU4eckoii padoTe.

- OtpaboTka TeKyllero Marepuaia Mo KOHCHEKTaM JICKIHH U
PEKOMEHIyeMOM TuTepaType.

OT4er Mo caMOCTOSTENBHON padoTe.

- JlopaOoTKa KOHCIIEKTa IO TEME.

ba3be1 1aHHBIX

Otuer no npakTuyeckou padore.
OT4er o caMOCTOSITEIBHON padoTe.

Hcnoap3oBaHue pecypcoB
HHTCPHETA

Otuer no npakTudeckoi padoTe.

- OtpaboTka TeKyllero Marepuaia Mo KOHCHEKTaM JIeKIHi U
PEKOMEHIyeMOM TuTepaType.

OT4er o caMOCTOSITENBHON padoTe.

- JlopaOoTKa KOHCIIEKTa O TEME.

Anann3 qu3aiiHa canta

Otuer no npakTuyeckou padore.

1. lopa®oTKa KOHCIEKTA 110 TEME.

2. B Terpamy KOHCHEKTOB COCTaBHTh TPU TECTOBBIX 3aJaHUs
(Bompoca) mo Teme.

OT4er Mo caMOCTOSTENBHON padoTe.

- OrpaboTka TeKyllero MaTepuajia Mo KOHCIEKTaM JIEKUUH U
pEeKOMeH1yeMoil TuTeparype.

Tectuposanue 110 u
MH(OPMALIMOHHBIX CUCTEM

Otuer no npakTuyeckou padote.

- Biagnmupo-Cy3nanbckoe KHSDKECTBO.
OTYeT Mo caMOCTOSTENHHOM padoTe.

- CamoTecTpOBaHUE

VYpaBneHue Ka4eCTBOM
MPOrPaMMHOTO O0ecTieueHus

OTueT 1o npakTHYECcKoi padore.
OT4er o caMOCTOSITENBHON padoTe.
- JlopaboTKa KOHCIIEKTa 110 TEME.




1.2.1 ®opmsl utorosoii arrectauuu no [IICC3 npu ocBoeHun y4eOHOH TUCHUIINHBI
HTOroBeiii KOHTPOJIb OCBOCHHBIX YMEHHUW M YCBOEHHBIX 3HaHWW mo aucuummimae OI'CH.04
WHocTpanHBId  s3BIK B MPO(ECCHOHAIBHOW  JIEATENILHOCTH  OCYHIIECTBIsieTcss B (hopme
mudpepeHIMPOBaHHOTO 3aUeTa.

1.2.2 Opranmn3anusi KOHTPOJISI U OLEHKH OCBOEHNSI MIPOrpaMMbl Y4eOHOH JUCIUIIMHBI
K muddepennmpoanHOMy 3a4eTy TOMYCKACTCs 00YJAIOIIUNACS, U3YIUBIINN TEOPETHUECKYIO YaCTh.



2. ®OH/I OLEHOYHBIX CPEACTB /IJIA OLEHKU OCBOEHHBIX YMEHHUI M YCBOEHHBIX 3HAHUIA 110 Y4eOHOH
aucouninae OI'CI.04 UHocTpaHHbIi A3BIK B MPOdecCHOHAIBLHOM 1eATeJIbHOCTH

2.1 3amanus QU5 IK3aMeHY I XCS

OuenuBaeMblie yMEeHHS:

— TIOHMMAaTh OOMmUH CMBICT YETKO TPOW3HECEHHBIX BBICKA3BIBAHWA B  TIpeeiiax
JTUTEPaTypHON HOPMBI Ha U3BECTHBIE TEMBI (MMPOQEeCCUOHANBHBIE H OBITOBBIC);

— TOHMMATh TEKCThI HA 0a30BbIE MPO(PECCHOHANBHBIE TEMBI;

— y4acTBOBaTh B JHAJIOTaX Ha 3HAKOMBIC 00mMME W TPO(HECCHOHATBHBIE TEMBI; CTPOHTH

MIPOCTHICBBICKA3BIBAHUS O ce0e M cBOSH POo(eCCHOHATBLHON IS TeILHOCTH;

—  KpaTKo 0OOCHOBBIBaTh U OOBSCHUTH CBOM JEHCTBHS (TEKyLIUE U IJIAHHPYEMBbIE); MTUCATh
MPOCTHIE CBA3HBIE COOOIEHUS Ha 3HAKOMBIE HJIM UHTEPECYIOIINE MPO(HEeCCUOHATBLHBIE TEMBI.

OuenuBaeMblie 3HAHUS:

—  TpaBWJIa MOCTPOEHUS MPOCTHIX U CIOKHBIX MPEIOKEHUH Ha TPpo(dheCcCHOHATbHBIE TEMBIL;

—  OCHOBHBIE 00OIIEYIOTPEOUTENBHBIE T1aroiibl (ObITOBas U MPodeccHOHAIbHAS JICKCUKA);

—  JIEKCMYECKUH MHUHMMYM, OTHOCSIIMHCA K OMUCAHUIO MPEJAMETOB, CPEJICTB U IMPOIIECCOB
podecCHOHATLHOM IEeATEIIBHOCTH, 0COOCHHOCTH TIPOU3HOIICHUS;

—  TpaBWIA YTEHUS TEKCTOB MPOPECCHOHATBHON HAPABICHHOCTH.

2.1.1 3aganus TeopeTHYECKOi (TECTOBOI) YaCTH
B kauecTBe MOArOoTOBKH K AM(PepeHIUPOBAHHOMY 3a4eTy N0 AUCHUILIHHE 00y4ar0IHMMCH
npeajiaraercsi TeCTOBasi 4YacTh.

|. Boibepume coomseememayrowee snauenue croea ui Clo80CO4emanusl.

1. tomakeacontribution - a) moroBoputhcs 0 BeTpeue, b) BHeCTH BKIa, C) CTPOUTH MPOTHO3bI, )
3aHUMAaThCs HAOJIOICHUEM,

2. todeduceimplication -a) nenmate mpenanoioxeHus, D) OOBACHATH B3aMMOCBA3b, C) HAXOIUThH
npuMeHeHue, d) onpeaeTuTh CMbICIT,;

3. todevote -a) meitaTbes, b) cpaBHUBATH, C) MOCBsAIIATH, d) MPUHUMATEL HA PaboOTY;

4. asto ... -a) K TOMy BpEMEHH, KOra. .. , b) Kak... , MoA00HO ... , C) 9To Kacaetcs ... , d) KcraTw,

5. meansofexistence -a) ucrounuk moxoma, D) cpemcTBa cymecTBoBaHus, C) COCTOsSHHE crmanaa, ()
YCJIOBUS CHICIIKH;

6. toaffect -a) BiusTh, Bo3aeiicTBOBaTh, D) BBOIUTD, C) pacIHpsTh, d) MPEBHIIIATS;

7. topayincometax -a) mIaTuTh HATHYHBIMH, D) BBECTH HAJIOT Ha CTOUMOCTb, C) IJIATUTH MOILIMHY Ha
BB03, ) IIATUTH MMOIOXOAHBIN HAJIOT;

8. scarcity - a) uzobuue, b) obecreuenue, C) ToBapoobopor, d) aehunmr;

9. employment -a) 3ausTocTh, b) cokparenue, C) npeanpusrtue, d) morpedienue;

10. inparticular -a) B coorBeTcTBHH C ... , D) B yacTHOCTH, C) B 11€710M, d) MPEUMYIIIECTBECHHO;

11. inmanycases -a) o MHOTUM MpUYKHAM, D) BO MHOTUX OTHOIICHUSX, C) BO MHOTHX Clly4asx, d) mpu
YCIIOBHH KPYITHBIX TPOIAXK;

12. tofallby 10% -a) Bo3pactu Ha 10%, b) ynmacte Ha 10%, C) cokpatuTbhcs u coctaBuTh 10%, d)
npubmusutees Kk 10%;

13. personalfreedom -a) nuuyHass OTBETCTBEHHOCTh, D) cBOOOMa JM4YHOCTH, C) YacTHOe BiaaeHue, d)
yacTHast COOCTBEHHOCTb;

14. applicationofskills -a) maBsiku OyxranTepckoit paboTel, D) HmpUMEHEHHE HABBIKOB, MACTEpPCTBA,
kBanuuKaimu, C) nepuuut padodeit cuibl, d) mprHOOpPETEHHE YMEHHUI;



15. toresultfromlowerprices -a) mpoMcxXoauTh M3-3a POCTa IieH, D) MPUBECTH K CHIDKEHHIO IIEH, C)
NPUBECTH K KOJIeOaHuIo 11eH, d) MpOUCXOIUTh U3-3a CHIKCHUS 11EH;

16. toprovidewithoutlet -a) oGecrneunBaTh pHIHKOM COBITA, D) MPENOCTaBUTH CKHUIKY, C) BIaaeTh
yHUBepMarom, d) oOecrieynBaTh NPOAYKIHEH;

17.distributionofcommodity -a) pacnipoctpanenue ToBapa, b) mpeacraBiacHue, BBEACHUE TMPOIYKIIHH,
C) pekiama uznenus, d) mpoIBHKEHUE TOBapa;

18. tobeduetobreakdown -a) ObITh B ymajake, B COCTOSHHHU 3acTOs, D)OOBIACHATH OAHKPOTCTBOM, C)
OBITh OTBETCTBCHHBIM 3a YOBITOK, Criajl, 0)OOBACHATHCS pacmagoM, KpaxoM;

19. like -a) mo6uTh, b) Kpome Toro, €) BMecTo 3TOTr0, d) KaK, MOJO00HO;

20. tocompareobservations -a) BeIBoAMTH 3HaueHue, D) cpaBHMBATH HAOIIOACHHS, C) OMPEAEIATH
dakTopsl, d) MoaYEPKUBATEH MPESHUMYIIECTRA,

21. causesofwealth -a) ucrounuku moxoma, b) cpeacrta cyiiectBoBanus, C) nmpuUunMHBl OoraTcTBa, )
HAJIOT Ha NMPHUOBLI;

22. toregard (as) -a) cumraTh, pacCMaTpUBaTh, D) MPOMCXOAUTH, OBITH MPUYKUHOW, C) 03HAuaTh, ()
npejararh;

23. toattempt -a) 3ameqiaTh Temr, b) magath, cokpamiarscs, C) mbITathest, d) COOTBETCTBOBATD;

24. asawhole -a) B yactHocTH, b) rIaBHEIM 00pa3zoMm, C) ckopee ueM, d) B 1ermom;

25. tolevyatax -a) miatuth Hajor, b) miatute 3apruiaty, C) mpoaaBaTh onToM, 0) BBECTH HAJIOT;

26. toconsume -a) BiajaeTh, b) moTpedasTh, C) BKIOYATh B ce0s1, 0) cOCTaBIATH;

27. toexpand -a) paciupsithb, b) BBIBO3UTH, C) 3aBHCETh, 0) MPUHUMATD,

28. tomeetsomebody’swants -a) uaru HaBcTpedy KOMy-71100, D) COOTBETCTBOBATH YBMM-TO JKEJIAHUSM,
C) YIOBJIETBOPSTH YbU-THOO0 NOTPEOHOCTH, d)UCTIBITHIBATH HYXY, HEJJOCTATOK B 4YeM-TTHOO;

29. toemployaseller -a) npumensTs MmacTepcTBO, b) HaHMMATH MPO/IABIIA, C) MPEAIIECTBOBATH TOPTOBIIE,
d) BIUSTH Ha IPOJIAXKY;

30. fallindemand -a) poct mpemioxenus, b) magenue crnpoca, C) yBenudeHnue crpoca, d) cokpaieHue
3aIacos;

31. materialabundance -a) marepuanbHbie pacxomsl, b) MarepuaabHOE W300MIKE, C) MCIIOIbL30BAHHIE
Mmatepuaia, ) 3amac coIpbs;

32. toissueshares -a) u3naBath 3aKoHBI, D) pacrnpenensaTh A0y, C) BBITYCKaTh akiuu, d) 3acTpaxoBaTh
BKJIQJIbI;

33. stockexchange -a) oomen BamioThl, b) M3MeHeHHe Kypca akiuii, C) TOpPrd Ha pbIHKE akiwii, d)
¢bon0Bas OUpKa;

34. todependonrevenue -a) oTBe4aTh 3a yOBITKH, D) BIUSATH Ha PHIHOK COBITA, C) 3aBHCETh OT A0X0/a, d)
3aBHUCETh OT MPEIIOKCHUS;

35. tocreditanamountto... -a) kpenuToBaTh 4el-TuO0 cueT, D) oTmaBaTh MTOHKHOE KOMY-THO0, YeMy-
n1100,C) 1aBaTh KPEANUT COTIACHO. .. , d)1aBaTh KpeauT B cymMMme (KOJHYECTRBE). .. ;

36. slowergrowthrate -a) Hu3kuii ypoBeHb pocTa, D) MeUICHHBI POCT MPOIEHTHBIX CTAaBOK, C)
OBICTpBIIA TIOABEM YPOBHS, ) 3aMeIeHIE TEMIIOB POCTa;

37. tomakeassumptions -a) HazHauath BcTpedy, D) menath npeayioxkeHue, C) aenarh MPEarnoIoKEHUs,
d) mpou3BOaUTH MOTPEOUTETHCKUE TOBAPBI;

38. security -a) camxenue, cokpaiienue, b) odmiecTBo, €) obecneuenue, d) coepexeHue;

39. toexplaininterrelation -a) oOBsACHATH B3aUMOCBS3b, D) BBIpakaTh COOTHOIICHHUE, C) HAXOIUTh
npuanHbl, d) paciupsATh PeIHOK COBITA,

40. bytheway -a) cornmacuo, b) momo6Ho, C) Takum obpazom, d) kcTatu;

41. tosatisfywants -a) cooTBeTCTBOBATH JKEIaHUAM, D) YIOBIETBOPATH MOTPEOHOCTH, C) COXPAHATH
no3uiuu, d) mpeiaraTh TOBaphbI,



42. levelofunemployment -a) mocobuwe mo Oe3pabotuiie, b) ypoBeHb 3aHATOCTH, C) YPOBEHb
notpebienus, d) ypoBeHb 0€3pabOTHIIbI;

43. producer’searnings -a) D0Xoxsl MpojaBia, D) yObITKM YacTHOTO MpeIIpUHUMATENs, C) TPUOBLIb
npou3BoAUTENs, 0) CTOMMOCTE MPOAYKIIHY;

44. valueofoutput -a) kypc BamoThl Ha Oupxe, D) CTOMMOCTh MPOAYKIKH, C) 3HAYUMOCTH OTpaciu, d)
MacmTald IpoU3BOJICTBA;

45. tosufferfrominflation -a) saBucerr OoT wHBecTHIMIA, D) mogaBuTh WHGIALKIO, C) BBIATH W3
COCTOSIHMSA craja, d) cTpaaaTh U3 3a 00eCICHUBAHHUS JICHET;

46. mostly -a) rmaBHBIM 00pa3oM, B OCHOBHOM, D) ckopee uem, C) ontom, d) 6ojee Toro;

47. toriseto 50% -a) yBenmuunthcs U coctaBuTh 50%, b) Bo3pactu Ha 50%, C) cokpatuth a0 50%, d)
BBIIOIHUTE Ha 50%;

48. toholdstocks -a) mokynare nennsie Oymaru, D) gepskars 3amacel, C) BbLIEpKaTh TPYAHOCTH, )
[pOJIaBaTh aKIlHu;

49. demanddecline -a) poct mpemioxkenus, b) yBenudeHue cnpoca, C) yMEHbIICHHE Mpeioxenus, d)
naJicHue Crpoca;

50. toemphasizeadvantages -a) mnpeaOCTaBUTh CKUIKH, D) pekiaMHpoBaTh TOBaphbl, C) 3aKJIFOYUTH
cornamienue, d) mogYepKuBaTh MPEUMYIIECTRA,

51. temporarychanges -a) aeHexHble CyMMbI, D) ycrmoBus oOMeHa, C) BpeMeHHbIC H3MeHeHwHs, ()
N3MEHEHHE ITOKa3aTeleH;

52. tosellinbulk -a) nokymnarts onrom, b) npoxaBate ontom, C) nponaBate B po3uuily, d) mpoaaBaTh B
KPEJINT;

53. toorderitems -a) mpemiarath yciayrd, D) pacmpocTpaHSTh TOBaphl, C) 3aKa3biBaTh TOBapbl, ()
pacmopspKaThCsl ICHEKHBIMUA CYMMaMH;

54. toacceptsupply -a) oTKJIOHUTH Mpeaoxkenue, D) mpeBbImaTe crnpoc, C) NPUHATH TpeaIoKeHue, d)
OTKa3aThCsl OT MOCTABOK;

55. tomakeanappointment -a) goroBoputhcs 0 BcTpede, b) BHOCHTH BKIIa, C) AeIaTh npeaioxenue, d)
[PEAOCTABIIATh CKUTIKY;

56. advanced -a) cpennuii, b) pa3BuThbIii, C) exKeroanbIi,d) TOMyCTHUMBIN;

57. toreceiveincome -a) ucnosbp30BaTh MPHOBLIB, D) MIATUTH HAJOT, C) YBEIUYUTH J0X0/1, d) moiTyyaTh
pUOBLIB;

58. enquiry -a) mpeuMyIecTBo, b) 3aHATOCTH, C) yBeaHueHHe, poct, d) ucciaeIoBanue;

59. prediction -a) mokymka, b) npenckasanue, mporHo3, C) MpeaCTaBiIeHUE, BBeIeHHE, () MTPOABUKEHHE;
60. toemploycapital -a) wnHakaruBarh KamuTan, D) perymupoBaTth cpeacTBa oOpaiieHus, C)
HCIIOJIb30BaTh KanuTal, d) BKIIaAbIBaTh JICHBIH;

61. onalargescale -a) B 6onbiiom Macimtade, D) Ha BBICOKOM YpOBHE, C) Ipu OrpoMHOM nedurmre, d)
KpYIIHOU MapTHEN;

62.manufacturingofgoods -a) mpousBoacTBo TOBapoB, b) ToBaponpou3BOAUTEH, C) TOBapHas OUpIKa,
d) ToBapooGOpOT;

63. ratherthan -a) ue panee uem, b) ckopee uem, C) kak u gaiee, d) 6osee Toro;

64. overallvalue -a) cambIii BBICOKHIT MTOKa3aTelb, D) pocT Kypca BatOThI, C) onToBas 1eHa, d) obras
CTOUMOCTH;

65. toincreaseby 20% -a) ymenbmuthest Ha 20%, b) yBenmuuutbes Ha 20%, C) npubmu3utbes k 20%, d)
YBEJIIMUUTHCS U cOCTaBUTH 20%;

66. toevenoutprices -a) BelgaBaTh Mpu3bl, D) BKIOYaTh B ceOsI CTOMMOCTD, C) BHIPABHHUBATH IICHBI, ()
MOBBIIIATH IEHBL;

67. toearnwages -a) yaoBIeTBOPATH MOTpeOHOCTH, D) Bo3MemaTh yOBITKH, C) MOJy4aTh 3apaOOTHYIO
wiaTy, d) IIaTuTh HaJIMYHBIMU;



68. join-venture -a) ponmoBas Oupka, b) sKOHOMHUYECKaAsT €AMHHUIIA, C) COBMECTHOE mpeanpusrtue, d)
KOOTEpaTUBHOE OOIIECTBO, TOBAPHUIIIECTRO;

69. customer’sneeds -a) yciayru ais KIMEHTOB, D) M3AEIUs KYCTapHOTO MPOU3BOIMTEINS, C) JTOXOJIbI
norpedureneit, d) mOTpeOHOCTH MTOKyNaTeNs, KINEHTA;

70. toresultinreducedproduction -a) nmpuBecTH K pOCTY MPOU3BOACTBA, D) MPOUCXOIUTH B pe3ysbTaTe
pocTa MpPOM3BOJCTBA, C) MPOMCXOAWTH W3-3a COKpalleHHs Npoaykiuu, () mpuBecTH K chamy
IIPONU3BOJCTBA,

71. rateofsaving -a) yposens mpojax, b) ypoBeHb cOepexeHuii, C) TeMIT BOCCTaHOBICHHS, d) YpOBCHb
JIOXO0JIOB;

72. todeliverpurchase -a) mocraBisTh MOKymky, D) mpemmarate mocraBKy, C) mpoaBurath Tosap, )
3aKJII049aThb CACIIKY,

Il. Boibepume npasunvnyio 3anoeosyto ¢opmy enaeona:

1. Prices (to determine) by supply and demand.

a) determine b) are determined

2. The output of agricultural products (to affect)by changes in weather conditions.

a) is affected b) affects

3. The government (to own) all the main productive resources in command economies.

a) owns b) is owned

4. Economics (to employ) the scientific method.

a) is employed b) employs

5. Managers can (to classify) by level and by area.

a) be classified b) classify

6. People (to produce) goods and services.

a) are produced b) produce

7. Partnerships (to own) jointly by two or more persons who are co-owners of business.

a) own b) are owned

8. To receive license (to require) bythe law.

a) is required  b) requires

9. The proprietor (to provide) the capital and (to execute) the total management.

a) is provided, is executed, b) provides, executes

10. Mixed economies (to use) in most countries today .

a) are used b) use

11. Business firms (to rent) or (to purchase) buildings, land, equipment.

a) rent, purchase b) are rented are purchased

12. Partnerships (to base) on agreement.

a) are based b) base

13. Wholesalers (to reduce) the number of contacts between producers and customers.
a) are reduced  b) reduce

14. Corporation (to own) by a group of people called stockholders.

a) own b) is owned

15. The difference between public and private firms can (to find) in their names.

a) find b) be found

16. Every choice (to involve) a cost.

a) is involved b) involves

17. English banknotes (to issue) by the Bank of England.

a) issue b) are issued



18. The people who (to buy) the shares become shareholders.

a) buy b) are bought

19. Business organizations may (to consider) as firms or companies.

a) consider  b) be considered

20. In market economies most productive resources (to own) by private individuals.
a) areownedb) own

1. Boibepume npasunvuyro suoospemennyro popmy enacona.
1. Economic conditions (to change) all the time.

a) are changing c) have changed

b) change d) will have changed

2. Inflation (to cause) many economic problems by the end of last year.
a) caused ¢) had caused

b) was causing d) has caused

3. The classical economists (to regard) money as a medium (cpexctso) of exchange.
a) regard c) were regarding

b) had regarded d) regarded

4. He did not see anything, while the meeting (to go on).

a) went on c) had been going on

b) was going on d) had gone

5. If he puts money in stocks, he (to get) some profit soon.

a) gets c) will get

b) will be getting d) will have got

6. Sales (to increase) at the moment.

a) increase c) have increased

b) are increasing d) have been increasing

7. They (to spend) over $5 thousand on marketing last month.
a) were spending c) have spent

b) had spent d) spent

8. Turnover (to rise) by 5 per cent this year.

a) Is rising C) has risen

b) rose d) was rising

9. She (to work) at her scientific paper for the next three years.
a) will be working c) will have been working

b) will work d) will have worked
10. Macroeconomists predict that inflation (to get) better.
a) gets c) will be getting

b) will have got  d) will get

11. In 1809 D. Ricardo (to publish) his first writings on economics.

a) had published c¢) published

b) was publishing d) had been publishing

12. When he called me, | (still to type) his documents.

a) typed ¢) had been typing

b) was typing d) had typed

13. By the end of next month output for export (to increase) by 5 per cent.
a) will increase c) will be increasing

b) will have been increasing d) will have increased
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14. 1 (to pay) you, when | get my cheque.

a) pay c) shall be paying

b) shall have paid d) shall pay

15. Their debts (already to reach) an unacceptable level.
a) have ... reached c) are reaching

b) reached d) have been reaching

16. The managing director said yesterday, that the number of competitors (to increase) all the time.
a) increases ¢) had increased

b) is increasing d) was increasing
17. If our marketing project falls, we (to lose) a lot of money.
a) lose c) shall have lost
b) shall lose d) shall be losing

18. I (to work) for Mr. Smith the whole next week, because his secretary willbe away.

a) shall be working ¢) am working

b) shall work d) shall have been working

19. Bank-notes first (to come into use — nosiBisiTRCst) in Britain nearly three centuries ago.
a) have come Cc) came

b) were coming d) had come

20. After we (to install) the new line, productivity climbed.

a) installed c) had installed

b) have installed  d) had been installing

IV. Vkaosrcume gpynkyuro npuvacmus 6 npeonosicenuus:

a) 9aCTb CKa3yeMoro,

b) o6¢crosTenncTBO,

C) ompeeneHue.

. Inflation is a general level of rising prices.

. They have improved both the form and the package.

. When speaking at the meeting the manager mentioned many interesting facts.

. Working at that project he understood the value of it.

. The market system of economic organization is also called capitalist system.

. Working capital includes raw materials, partly finished goods held by producers.

. Having achieved good results they became a large profitable firm.

. People have scarce means to satisfy their unlimited wants so they have to choose.

. The price of product is determined by the interaction of demand and supply.
10.The information obtained is very important.

11.We are offering new improved goods to our customers.

12. When using new equipment the company could increase its output.

13.Having received the necessary results we stopped our experimental work.

14. Fixed capital consists of the equipment used in production — buildings, machinery, railways etc.
15. Taking these measures we shall be able to meet our customers’ needs.

16. People’s productive potential and their material wants are increasing all the time.

©O© 00 N O Ol WD K-

2.1.2 3ajaHuSIMPaKTHYECKOHYACTH

UNIT 1
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
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to calculate ten-toothed gear wheels a chip

an abacus to aim guns rectangular

a bead frame responsible a layer

to devise to figure out attached

aslide rule a generation to encapsulate
to reduce a predecessor dependable

I1. Read the text and do the exercises that follow it.
History of Computers

Let us take a look at the history of the computers that we know today. The very first calculating
device used was the ten fingers of a man’s hands. This, in fact, is why today we count in tens and
multiply of tens. Then the abacus was invented, a bead frame in which the beads are moved from left to
right. People went on using some form of abacus well into the 16" century, it is being used in some
parts of the world because it can be understood without knowing how to read.

During the 17th and 18th centuries many people tried to find easy ways of calculating. J. Napier, a
Scotsman, devised a mechanical way of multiplying and dividing, which is how the modern slide rule
works. Henry Briggs used Napier’s ideas to produce logarithm which all mathematicians used today.

Calculus, another branch of mathematics, was independently invented by both Sir Isaac Newton,
an Englishman, and Leibnitz, a German mathematician. The first real calculating machine appeared in
1820 as the result of several people’s experiments. This type of machine, which saves a great deal of
time and reduces the possibility of making mistakes, depends on a ten-toothed gear wheels.

In 1830 Charles Babbage, an Englishman, designed a machine that was called ‘The Analytical
Engine’. This machine, which Babbage showed at the Paris Exhibition in 1855, was an attempt to cut
out the human being altogether, expert for providing the machine with the necessary facts the problem
to be sowed. He never finished this work, but many of his ideas were the basis for building today’s
computers.

In 1930, the first analog computer was built by American named Vannevar Bush. The device was
used in World War 1l to help aim guns. Mark I, the name given to the first digital computer, was
completed in 1944. The men responsible for this invention were Professor Howard Aiken and some
people from IBM. This was the first machine that could figure out long of mathematical problems all at
a very fast speed.

In 1946 two engineers at the University of Pennsylvania, J. Eckert and J. Mayshly, built the first
digital computer using parts called vacuum tubes. They named their new invention UNIAC. The first
generation of computers, which used vacuum tubes, came out in 1950. UNIAC | was an example of
these computers which could perform thousand of calculations per second.

In 1960, the second generation of computers was developed and could perform work ten times
faster than their predecessors. The reason for this extra speed was the use of transistors instead of
vacuum tubes. Second generation computers were smaller, faster and more dependable than first
generation computers.

The third-generation computers appeared on the market in 1965. These computers could do a
million calculations a second, which is 1000 times faster than the first generation computers. Unlike
second-generation computers, these are controlled by tiny integrated circuits and are consequently
smaller and more dependable.

Fourth-generation computers have now arrived, and the integrated circuits that are being
developed have been greatly reduced in size. This is due to microminiturization, which means that the
circuits are much smaller than before; as many as 1000 tiny circuits now fit onto a single chip. A chip is
a square or rectangular piece of silicon, usually from 1/10 to % inch, upon which several layers of an
integrated circuit are attached or imprinted, after which the circuit is encapsulated in plastic metal.
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Fourth generation computers are 50 times faster than third-generation computers and can complete
approximately 1.000.000 instructions per second.
I11. Translate from English into Russian:

1. the very first calculating device 7. first digital computer
2. to count in tens 8. to figure out

3. to multiply of tens 9. ten times faster

4. without knowing 10. extra speed

5. to be independently invented 11. tiny integrated circuits
6. to save a great deal of time 12. keeping instruction

IV. Translate from Russian into English:

1. 3HaTh CeroJiHs 7. MOTBITKA

2. 10 nanp1ieB pyku yenoBeKa 8. aHAJIOTOBBIN KOMIIBIOTEP
3. KOCTH Ha CYeTax JIBUraloT CJIEBA HA IIPAaBO 9. ckopocTh

4. mpooyKaTh UCII0JIb30BATh 10. BakyyMHBI€ JTaMITbI (TPyOKH)
5. cueTsl 11. Tpan3zucrop

6. HacToOsIIasl CYETHO- 12. uHTErpUpOBAaHHBIE CXEMBI

BbIYUCIIMTCJIbHAsAMAIIINHA

V. Fill in each blank with a word chosen from the list below to complete the meaning of the sentence:
chip, speed, figure out, calculating, reduces, microminiturization,

analog, logarithm, abacus, machine, vacuum tubes,

tiny, dependable, devised

. The very first ..... device used was 10 fingers of a man’s hand.

. Then, the ..... was invented.

. J. Napier ..... a mechanical way of multiplying and dividing.

. Henry Briggs used J.Napier’s ideas to produce ..... .

. The first real calculating ..... appeared in 1820.

. This type of machine ..... the possibility of making mistakes.

. In 1930 the first ..... computer was built.

. This was the first machine that could ..... ..... mathematical problems at a very fast speed.
. In 1946 was built the first digital computer using parts called .... .

10. The reason for this extra ..... was the use of transistors instead of vacuum tubes.

11. The second generation computers were smaller, faster and more ..... than first-generation computers.
12. The third-generation computers are controlled by ..... integrated circuits.

13. This is due to ....., which means that the circuits are much smaller than before.

14. A ..... is a square or rectangular piece of silicon, usually from 1/10 to 1/4 inch.

VI. Fill in the preposition:

. Let us take a look ..... the history of computers.

. That is why we count ..... tens and multiply ..... tens.

. The beads are moved ..... left ..... right.

. Abacus is still being used ..... some parts ..... the world.

. Calculus was independently invented ..... both Sir Isaac Newton and Leibnitz.

. This type of machine depends ..... a ten-toothed gear wheels.

. «The Analytical Engine» was shown ..... the Paris Exhibition ..... 1855.

. The men responsible ..... this invention were Professor Howard Aiken and some people ..... IBM.
. The first generation of computers came ..... in 1950.

10. Due to microminiturization 1000 tiny circuits fit ..... a single chip.

VII. Finish the following sentences:
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1. The first generation of computers came out in ..... .

2. The second generation of computers could perform work ten times faster than their .... .
3. The third-generation computers appeared on the market in ..... .

4. The fourth-generation computers have been greatly ..... .

5. The fourth-generation computers are 50 times faster and can ..... :
VIII. Find the synonyms to the following words in the text:

simple, to carry out, up to date, quick, to try, small

IX. Find the antonyms to the following words in the text:

Like, short, to increase, sole, dependently

X. Arrange the items of the plan in a logical order according to the text:
1. J. Napier devised a mechanical way of multiplying and dividing.

2. The very first calculating device was the ten fingers of a man’s hands.
3. Babbage showed his analytical engine at Paris Exhibition.

4. The first real calculating machine appeared in 1820.

5. The first analog computer was used in World War II.

XI. Answer the questions on the text:

. What was the very first calculating device?

. What is abacus? When did people begin to use them?

. When did a lot of people try to find easy ways of calculating?

. Who used Napier’s ideas to produce logarithm?

. What was invented by Sir Isaac Newton and Leibnitz?

. What did Charles Babbage design?

. When was the first analog computer built? How did people use it?

. Who built the first digital computer?

. How did the first generation of computers work?

10. What are the differences between the first and the second computer generations?
11. When did the third-generation computers appear?
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UNIT 2
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to intricate capabilities a microcomputer
tiny addition a circuit
a core subtraction unfortunately
to manipulate division dull
to magnetize multiplication aroutine
to perform exponentiation a judgement
to supply to feed instantaneously

I1. Read the text and translate it without the help of the dictionary.
What is a Computer?

A computer is a machine with an intricate network of electronic circuits that operate switches or
magnetize tiny metal cores. The switches, like the cores, are capable of being in one of two possible
states, that is, on or off; magnetized.

The machine is capable of storing and manipulating numbers, letters and characters.

The basic idea of a computer is that we can make the machine do what we want by inputting
signals that turn certain switches on and turn others off, or that magnetize or do not magnetize the cores.

The basic job of computers is the processing of information. For this reason, computers can be
defined as devices which accept information in the from of instructions called a program and characters
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called data performing mathematical and logical operations on the information, and then supply results
of these operations.

The program or a part of it, which tells the computers what to do and the data, which provide the
information needed to solve the problem, are kept inside the computer in a place called memory.

Computers are thought to have many remarkable powers. Most computers, whether large or small
have three basic capabilities.

First, computers have circuits for performing arithmetical operations, such as: addition,
subtraction, division, multiplication and exponentiation. Second, computers have means of
communicating with the user. If we couldn’t feed information in and get results back these machine
wouldn’t be of much use.

However, certain computers (commonly minicomputers and microcomputers) are used to control
directly things such as robots, aircraft navigation systems, medical instruments, etc. Some of the most
common methods of inputting information are to use terminals, diskettes, disks and magnetic tapes.

The computer’s input device (which might be a disk drive depending on the medium used in
inputting information) reads the information into the computer. For outputting information, two
common devices are used a printer which prints the new information on paper, or a cathode-raytube
(CRT) display screen which shows the results on a TV-like a screen. Third, computers have circuits
which can make decisions. The kinds of decisions which computer circuits can make are not of the type:
‘Who would win a war between two countries?’ or ‘Who is the richest person in the world?’
Unfortunately, the computer can only decide three things, namely:’ Is one number use more often than
another? ‘Are two numbers equal?’ and, ‘Is one number greater than another?’

A computer can solve a series of problems and make hundreds even thousands of logical
operations without becoming tired or bored. It can find the solution to a problem in a fraction that it
takes a human being to do the job. A computer can replace people in dull routine, but it has no
originality, it works according to the instructions given to it and cannot exercise value judgements.

There are times when a computer seems to operate like a mechanical «brainy, but its achievement
are limited by the minds of human beings. A computer cannot do anything unless a person tells it what
to do and gives the appropriate information, but because of electric pulses can move at the speed of
light, a computer can carry out vast numbers of arithmetical-logical operations almost instantaneously.

A person can do the same, but in many cases that person would be deal long before the job was
finished.

I11. Translate these into your own language:

1. an intricate network 9. an input device

2. tiny metal cores 10. for outputting information
3. by inputting signals 11. a decision

4. the processing of information 12. to replace

5. to define 13. appropriate

6. to provide 14. to carry out

7.to solve 15. vast

8. memory

IV. Translate these into English:

1. mepexJrouaTelb, MOA0OHBIH 9. HEMOCPEICTBEHHO YIIPABIATH
MCTAJUIMYCCKOMY CCPACYHUKY

2. OyKBBI ¥ 3HAKU (CUMBOJIBI) 10. cxema

3. HaMarHMYMBaTh METAJUTMICCKUN 11. MexaHUYECKHI MO3T
CEpJICUHUK

4. 06paboTka nHPpOpMaITUH 12. orpaHUYCHHBIN

15



5. BBHINIOJIHATH METAJNINYCCKHUE 13. 1o Tex mop noka

H JIOTUYCCKHUE OIICpaluu

6. JaHHBIC 14. mogxomsmuia

7. 3amedaTeNbHbIN 15. ckopocTh cBeTa

8. CpCACTBACBA3ZUCIIONB30BATCIIEM

V. Fill in the necessary words:

1. A computer is a ..... with an intricate network of electronic circuits.

2. The machine is ..... of storing and manipulating numbers, letters and characters.
3. The basic job of a computer is the ..... of information.

4. Most computers have three basic ..... .

5. Computers have ..... for performing arithmetical operations.

6. Certain computers are used ..... directly things such as robots, medical instruments, etc.
7. For outputting information two common ..... are used.

8. A computer can ..... people in dull routine.

VI. Fill in the gaps the prepositions:

. A computer is a device ..... an intricate network.

. The switches are capable of being ..... one or two states.

. We can make the machine do what we want ..... inputting signals.

. Computers accept information ..... the form of instructions called a program.

. Computers have circuits ..... performing operations.

. Computers have means of communicating ..... the user.

. Input device may be a disk drive depending ..... the medium used ..... inputting information.
. Computers can solve a series of problems ..... becoming tired or bored.

VII. Match the names on the left with the definitions on the right:

00 NOo Ol s, WDN -

1. video recorder a) a kind of sophisticated typewriter using a computer
2. photocopier b) a machine which records and plays back sound
3. fax machine c) a machine which records and plays back pictures
4. tape recorder d) a camera which records moving pictures and sound
5. modem e) a machine for chopping up, slicing, mashing, etc.
6. camcorder f) a machine which makes copies of documents
7. robot g) a machine which makes copies of documents and
sends them down telephone lines to another place
8. word-processor h) a machine which acts like a person
9. food-processor i) a piece of equipment allowing you to send information from one computer

down telephone lines to another computer
VIII. Write descriptions like those in exercise VI, for the following objects:

TV set sewing-machine microwave disks
iron telephone printer mouse
alarm-clock ventilator keyboard CD-players

IX. Give the appropriate definitions of the following terms:

computer, data, memory, input, device, output

X. Find the synonyms to the following words in the text:

Work, difficult, to fulfill, fundamental, to end, equipment

complex, way, uninterested, an accomplishment

XI. Find the antonyms to the following words in the text:

output, smaller, interesting, poor, dark, alive, large, receiving, reject, unusual
XI1. Arrange the items of the plan in a logical order according to the text:

16



1. A computer can solve a series of problems and make hundreds even thousands of logical operations.
2. The basic job of computers is the processing of information.

3. A computer is a machine with an intricate network of electronic circuits.

4. Computers have circuits for performing arithmetic operations.

5. The machine is capable of storing and manipulating numbers, letters and characters.
6. Some of the most common methods of inputting information are to use terminals.

7. For outputting information only two common devices are used.

XI11. Answer the following questions:

1. What is a computer?

2. What is it capable to do?

3. The basic job of a computer is the processing of information, isn’t it?

4. How do we call a program, which tells the computer what to do?

5. Computers have many remarkable powers, don’t they?

6. What can computer solve?

7. Can computers do anything without a person?

XIV. Give a short summary of the text.

UNIT 3
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to adjust to check in to maintain
advanced to enable a marvel
to amend to execute random
to assist to guide to rely on
to conjure an image a relative ease
to contribute huge to resemble
conversing launching a terminal

I1. Read the text and do the exercises that follow it.
Computer Applications

Many people have or will have had some experience of ‘conversing’” with computers. They may
have their own micro-computer, they may use a terminal from the main company at work or they may
have a television set with a view data facility. Those who do not have this experience may observe the
staff at, for example, an airline check-in or a local bank branch office sitting at their desks, pressing keys
on a typewriter like a keyboard and reading information presented on a television type screen. In such a
situation the check-in clerk or the branch cashier is using the computer to obtain information (e.g. to
find out if a seat is booked) or to amend information (e.g. to change a customer’s name and address).

The word computer conjures up different images and thoughts in people’s mind depending upon
their experiences. Some view computers as powerful, intelligent machines that can maintain a ‘big
brother’ watch over everyone. Others are staggered and fascinated by the marvels achieved by the space
programs of the superpowers, where computers play an important part.

Numerous factories use computers to control machines that make products. A computer turns the
machines on and off and adjusts their operations when necessary. Without computers, it would be
impossible for engineers to perform the enormous number of calculations needed to solve many
advanced technological problems. Computers help in the building of spacecraft, and they assist flight
engineers in launching, controlling and tracking the vehicles. Computers also are used to develop
equipment for exploring the moon and planets. They enable architectural and civil engineers to design
complicated bridges and other structures with relative ease.
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Computers have been of tremendous help to researchers in the biological, physical and social
sciences. Chemists and physicists rely on computers to control and check sensitive laboratory
instruments and to analyze experimental data. Astronomers use computers to guide telescopes and to
process photographic images of planets and other objects in space.

Computers can be used to compose music, write poems and produce drawings and paintings. A
work generated by a computer may resemble that a certain artist in birth style and form, or it may appear
abstract or random. Computers are also used in the study of the fine arts, particularly, literature. They
have also been programmed to help scholars identify paintings and sculptures from ancient civilizations.

But computers do not have intelligence in the way humans do. They cannot think for themselves.
What they are good at is carrying out arithmetical operations and making logical decisions at
phenomenally fast speed. But they only do what humans program gives them to do.

Apart from the speed at which computers execute instruction, two developments in particular have
contributed to the growth in the use of computers — efficient storage of large amounts of data and
diminishing cost. Today, computers can store huge amount of information on magnetic media and any
item of this information can be obtained in a few milliseconds and displayed or printed for the user.

I11. Translate these into your own language:

1. some experience of conversing 8. advanced technological problem
2. view data facility 9. to guide telescopes

3. to obtain information 10. ancient civilization

4. powerful, intelligent machine 11. arithmetical operations

5. to be straggered and fascinated 12. logical decisions

6. to adjust operations 13. to execute instructions

7. enormous number of calculations 14. efficient storage

IV. Translate these into English:
. HCIT0JIb30BAaTh TCPMHHAJI IJIaBHOM KOMIIaHUU
. HA’KMMAaThb KHOIIKH Ha KJIaBUATYpEC
. IOJyYUTh UHPOPMAIUIO
. pa3nuuHble 00pa3bl

1

2

3

4

5. KOMITBIOTEP BKITFOYAET M BBIKIIOYAET MAITHHEI

6. pazpaboTath 000pYyIOBaHKE JIJISl UCCIIeNOBaHMs JIYHBI U IPYTUX TJIaHET
7. 9yBCTBUTEIBHOE 000pPY0BaHUE

8. aHaMM3UPOBaTh HIKCIIEPUMEHTAIbHbIE JAaHHbIE

9. MOTYT OBITH MCIIOJIb30BaHBI JJIS1 COUNHEHUS MY3bIKH
10. pabora, ynpasisiemas KOMIbIOTEPOM

11. noMO4Yb y4EeHBIM OIIPENEIUTD

12. He MOTYT yMaTh CaMH

13. XOpo1IO CpaBIATHCS C BBIIOJIHEHUEM

14. BHOCHUTBBKIIA

V. Give the situation from the text in which the following words and expressions are used:

1. people have some experience 6. to process photographic images of
2. different images 7. to resemble

3. it would be impossible 8. intelligence

4. spacecraft 9. fast speed

5. enable to design 10. magnetic media

VI. Fill in the gaps necessary prepositions:
1. People may use a terminal ..... the main company ..... work.
2. A clerk can press keys ..... a typewriter.
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3. The word computer conjures ..... a different images.

4. A computer turns the machine ..... and ..... :

5. Computers help ..... building of spacecraft.

6. They are used to develop equipment ..... exploring the moon and planets.

7. Chemists and physicists rely ..... computers to control sensitive instruments.

8. Computers don’t have intelligence ..... the way humans do.

9. Computers are good ..... arithmetical operations.

10. Computers can store huge amounts of information ..... magnetic media.

VII. Ask questions to which the following statements might be the answers:

. People may use a terminal from the main company at work.

. In such a situation the check-in clerk is using the computer to obtain information.

. The word computer conjures up different images and thoughts in people’s mind.

. Numerous factories use computers to control machines that make products.

. A computer turns the machine on and off and adjust their operations.

. Computers help in the building of spacecraft and assist flight engineers in launching.

. Chemist and physicists rely on computers.

. A work generated by a computer may resemble that a certain artist in a birth style and form.

. Computers do only what humans program them to do.

10. Computers obtain huge amounts of information in a few milliseconds.

VIII. Agree or disagree with the following statements:

1. Only a few people have or will have had some experience of «conversing» with computers.

2. The word computer conjures up the same images and thoughts in computer’s brain depending upon
the structure of the computer.

3. Without computers it would be impossible for engineers to perform the enormous number of
calculations.

4. Architectors and civil engineers can’t design complicated bridges and other structures with the help of
computers.

5. Computers haven’t been of tremendous help to researchers in the biological, physical and social
sciences.

6. Poets and physicists rely on computers to control and check sensitive laboratory equipments.

7. Computers can be used to compose music, write poems and produce drawings and paintings.

8. Computers have intelligence in the way humans do.

9. Today, computers are very big, slow and can store little information on magnetic media.

IX. Write the plan of the text to retell it in English.

X. Points for discussion: advantages and disadvantages of computers.
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UNIT 4
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
circular octal contiguous comparing
to assume a value cell selecting
decimal a location adequate sorting
to handle uniquely precise matching

I1. Read the text and do the exercises that follow it:
Information, machine words, instructions, addresses
and reasonable operations
Information is a set of marks or sings that have meaning. These consist of letters or numbers,
digits or characters, typewriter signs, other kinds of sing and so on. So, information is the end product of
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people obtained from computer systems. The process of using computer is circular beginning and
ending with people.

When we see number 562 we normally assume that it represents five hundred and sixty-two. This
is because we are conditioned to the decimal system where the base is 10. Nowadays school children are
taught to handle numbers with different bases such as octal (8) and binary (2). With the number 562 we
understand this to mean that we have 5 hundreds, 6 tens and 2 units (5 - 100 + 6 - 10 + 2 - 1) so each
digit has a meaning represented by its value and its position.

Computers work by using the binary system where the base is 2. This means that each position can
have a value of 0 or 1. So any information may be represented by the binary system including these two
digits. Because at their most basic level, computers only understand the language of electricity: positive
(or on or 1) and negative (or off or 0). Instead of going up in powers of ten (10,10 x 10,10 x 10 x 10) the
positions go up in powers of 2 (2,2 x2,2x2x2,2X2Xx 2, etc.)

Thus the binary number 1001 can be represented as:

2 X 2 X 2s position 2 X 2s position 2s position units position
1 0 0 1

Thus number can be converted to decimal

2Xx2x2x1=8x1=8

2x2x0=4x0=0

2x0=0
1=1
9

S0 1001 in binary has the same value as 9 in decimal.

The memory of a computer consists of a large number of locations, each of which in uniquely
addressable. In most modern computers these locations are called bytes. They consists of eight positions
and each position can be set to 0 or 1. These positions are bits. A bit is the smallest part of information
and it is the basic unit of data recognized by the computer. Bits are grouped in units that are called bytes.
A byte consists of eight bits.

A group of contiguous bytes that can be manipulated together is called a word. A word may be 2
bytes (16 bits) or 4 bytes (32 bits) or other combinations. 16 bits can hold number up to 65,535. Word
length is the term used to describe a word’s size in numbers of bits.

The memory of the computer can hold instructions that the control unit acts upon, and it can store
binary numbers on which arithmetical operations can be carried out. A large number of business
operations, and computer-based training in particular, do very little with numbers. They are mostly
concerned with accepting as input, manipulating and presenting as output, large quantities of character
information-names and addresses.

An address is the name of particular memory location or cell. Each memory location (word or
byte) has it own unique address or number just a post office box. If one character is stored in a byte,
there are 256 possible characters that the different bit patterns can represent. That is quite adequate for
all alphabetic characters in upper and lower case, the number 0 to 9 and the various punctuation and
special characters that are found on a typewriter keyboard. One widely used Coding convention is
ASCII (American Standard Code for Information Interchange), pronounced as the two words «ass» and

«key».
This is a part of the ASCII Code
Character % E+ ‘ @) * + : - . /
ASCII Code 37 38 39 40 42 43 44 45 46 47
Character 0 1 2 3 4 5 6 7 8 9
ASCII Code 48 49 50 51 52 53 54 55 56 57
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Character A B C D E F G H I J
ASCII Code 65 66 67 68 69 70 71 72 73 74

Thus, if we wanted to hold FRANKLIN in part of the correct answer it could be held somewhere

in memory (say location 5390 onwards) as the following ASCII codes:

Letter F R A N K L I N

Code in memory 70 82 65 78 75 76 73 78

Memory location 5390 5391 5392 5393 5394 5395 5396 5397

Computer people generally refer to 1000 (1024 to be precise) byte as a kilobyte (kb) and a million
bytes as a megabyte (mb). So, if somebody has a microcomputer with 640 k memory locations than
means there are 640,000 locations in the machine.

Reasonable operations are mathematical and logical. Mathematical operations include arithmetical
and algebraic operations. Arithmetical operations are addition, subtraction, multiplication, division,
taking a square root, etc.; and algebraic operations are called raising to a power as well as differentiating
and integrating.

Logical operations include comparing, selecting, sorting, matching, etc.

I11. Translate these into your own language:

1. a set of marks and signs 7. bytes

2. circular beginning and ending with people 8. bits are grouped

3. we are conditioned to the decimal system 9. can be manipulated together
4. base 10. to hold instructions

5. including these two digits 11. memory location

6. the positions go up in powers of 2 12. to include

IV. Translate these into English:

1. MHO>KECTBO 3HAKOB 7. JACCATHUYHOEC YUCIIO

2. 9UCI0 MMpeaACTaBIACT 8. 3alIOMUHATb, XPaHUTh B IIaAMATH
3. ydar pa6OTaTb C yHucjiamMu 9. BBHIIOIHATH

4. y Ka)XJ0ro €CTh CBOE 3HaYEHUE 10. TouHO

5. IBOMYHAs CUCTEMA UCUYUCIICHUS 11. pazymHbIe onepanuu

6. OCHOBHOI1 YpOBEHb

V. Fill in the necessary words:

1. ... is a set of marks or signs.

2. We are conditioned to the ..... ..... .

3. Computers work by using the ..... ..... where the ..... is 2.

4. The ..... of a computer consists of a large number of locations.

5. A ..... is the smallest part of information.

6. A byte consists of 8 ..... .

7. The memory of the computer can ..... instructions.

8. Computer people generally ..... ..... 1 000 bytes as a kilobyte.

VI. Fill in the prepositions:

1. Nowadays school children are taught to handle numbers ..... different bases.

2. ... their most basic level, computers only understand the language of electricity.

3. Instead of going ..... in powers of ten, the positions go ..... ..... powers of 2.

4. Each position can be set ..... 0 or 1.

5. Bits are grouped ..... units.

6. The memory can store binary numbers ..... which arithmetical operations can be carried ..... .
VII. Give the correct definitions of the following terms:

a) information c) bit e) word g) reasonable operation
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b) binary system d) byte f) address

VIII. Answer the following questions:

1. What is information?

2. Do computers work by using binary or decimal system?

3. What is the base of the binary system?

4. How can any information be represented?

5. What is the ASC 11 Code?

IX. Write you last name in letters and codes in memory and in memory locations, use the ASC Il Code.
X. Retell the text.

UNIT5
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
regardless to monitor to fit
to enter a hardware representative
a routing peripheral available
to direct a variety to purchase
a property an occurrence a competitor
to modify to afford incredibly
solely to confine to convince

I1. Read the text and do the exercises that follow it.
Kinds of Computers
All computer systems, regardless of their size, have the same four hardware components:
1. A processor or CPU, where the data input is processed according to the program.
2. Input/output devices or peripherals such as the keyboard and printer, which receive data from people
and enter it into the computer for processing, then send it back to people so it can be used.
3. Storage components such as disk drives or tape drives keep data for later use.
4. Routing and control components, which direct the instructions and/or data from one component to the
next making sure each does its task properly.

Computers are generally classified as general-purpose or special purpose machine. A general-
purpose computer is one used for a variety of tasks without the need to modify or change it as the tasks
change. A common example is a computer used in business that runs many different application.

A special-purpose computer is designed and used solely for one application. The machine may
need to be redesigned and certainly reprogrammed, if, it is to perform another task. Special-purpose
computers can be used in a factory to monitor a manufacturing process; in research to monitor
seismological, meteorological and other natural occurrences; and in the office.

So all computers have in common, but certain computers differ from one another. These
differences often have to do with the way a particular computer is used. That is why we can say there
are different types of computers that are suited for different kinds of work or problem solving.

Personal computer is a computer system that fits on a desktop, that an individual can afford to buy
for personal use, and that is intended for a single use.

Personal computers include desktops, laptops and workstation. Each type of a personal computer
shares many characteristics in common with its counterparts, but people use them in different ways.

The Desktop Personal computer is a computer that:

-fits on a desktop

-is designed for a single user

-is affordable for an individual to buy for personal use.
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Desktop personal computers are used for education, running a small business, or in large
corporation, to help office workers be more productive. There are some common desktop personal
computers:

-The IBM PC and PC-compatible

-The Compaq Deskpro 386

-The IBM PS/2

-The Apple Macintosh

The Laptop Personal Computer is a computer that people can take with them, laptop is used by a
single individual but can be used in many different places, it is not confined by its size or weight to a
desktop. It has the same components as a desktop machine but in most cases the monitor is built in. The
printer is usually separate.

Laptops fall into the same general categories as desktop personal computers:

-PC-compatibles

-ABM PC/2

-Apple Macintosh portable

Managers and employees who travel frequently use laptops to keep in touch with their office.
Sales representatives keep company information on their laptops to show prospective clients, and send
electronic orders into the company computers. Writers use laptops so they can work on their manuscript
no matter where they are.

There are many portables available today, some weigh as much as 15 pounds, while others weigh
as little as 3 pounds. There are laptops so small they fit in the palm of your hand. There are laptops that
fit in a briefcase, called notebook computers.

The Workstation is a computer that fits on a desktop, but is more powerful than a desktop
computer. The workstation has a more powerful microprocessor, is able to service more than one user,
has an easy to use interface and is capable of multitasking. While these three characteristics used to be
unique to workstation, they are being adapted to the more powerful 386 and 486 personal computers
over time.

Workstations are designed for three major tasks: scientific and engineering, office automation and
education.

The Minicomputer, or mini, is a versatile special or general-purpose computer designed so that
many people can use it at the same time. Minis operate in ordinary indoor environments; some require
air conditioning while others do not. Minis also can operate in less hospitable places such as on ships
and planes.

Like all computers, the minicomputer is designed as a system. CPUs, terminals, printers and
storage devices can be purchased separately. Mini systems are more mobile, easier to set up and install.
A minicomputer system combined with specialized equipment and peripherals is designed to perform a
specific task. A popular minicomputer is the Digital VAX Computer.

Mainframe is the largest general-purpose computer. It is designed to be used by hundreds even
thousands of people. A mainframe uses the same basic building blocks of a computer system: the CPU,
various I/O devices and external memory.

Most mainframe computers are general-purpose machines. In 1964 introduced the System/360
mainframe computer. It became the most popular mainframe in the computer history.

A Supercomputer is a very fast special-purpose computer designed to perform highly sophisticated
or complex scientific calculations. For example calculating a prime number (one that is divisible only by
1 and itself),or the distance between planets. But computers permit turning many other problems into
numbers, such as molecular modeling, geographic modeling and image processing.

Cray is a leading supercomputer maker, with IBM and Fujistsy as major competitors.
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A Cray X-MP Supercomputer was used to help to make a movie called ‘The last starfighter’
Computer animation isn’t new but using the X-MP added a whole new dimension of sophistication. Its
most remarkable accomplishment was creating the entire bridge of the alien’s starship, complete with
animated aliens walking around next to real actors. Because the Cray could process the image in
incredibly fine detail, the average viewer would think it looked absolutely real. The X-MP allowed
animators to make illusion as convincing as reality itself.

It is interesting to know that ...

PCs and PC-compatibles are used in organization of all sizes. PCs are an office time saver,
allowing the staff to write press releases and legislative testimony, performs accounting tasks, and
prepares mailing lists more quickly. It is also paves the way for organization to complete more
effectively with other public interest groups. Today, over 80 percent of Public Citizen’s employees use
PC-compatibles. Word processing has replaced typewriters, hard disk drive storage has reduced the
amount of paper kept in filing cabinets, and laser printing has cut their outside printing costs
dramatically.

Banks have traditionally used the latest computer technology to automate their own operations,
but First Banks for Business found a way to use personal computers to improve customer service. In the
past, when a customer wanted to cash a check, the signature card had to be compared to verify identity.
That meant looking through a card file or containing central book-keeping, which could take as long as
30 minutes.

Now Banks for Business installed PC-2s with special graphics capabilities and software called
Signet to perform the task. When the letters retrieve customer account information from the computer,
they see the authorized signatures appear right on the screen. The system also tells them what other
signatories are permitted on the account or if two signatures are required to cash a check. The banks say
the main reason customers change banks is due to bad service. Using the powerful PS-2s signet, they
can cash a customer’s cheek in a minute or less.

People use laptops for many of the same tasks that they use desktops and more.

Astrophysicists use Sun Microsystems workstations for their engineering work. They routinely
sketch graphs and diagrams on the screen using computer-aided drafting software, as well as
sophisticated calculation software to test mathematical equations. They also exchange ideas and
information with each other in electronic messages. One project they have worked on in cooperation
with NASA is the Advanced X-Ray Astrophysic Facility. It is an observatory in space that will measure
cosmic Xrays, which are invisible an earth. The astrophysicists hope that the information provided will
help them understand better how the universe was formed and what is eventual fate will be.

The Sun workstation performed an additionally important task: helping gather visual and textual
information into a comprehensive report for NASA to explain how an X-ray telescope would function
abroad the observatory. Using electronic publishing software, they combined graphics screens,
mathematical equations, and textual explanations into a document that took just six hours to prepare.
Previously, it would have taken two days.

I1. Fill in the necessary words:

1. are generally classified as general — or special-purpose machine.

2. A special-purpose computer is designed and used ..... for one application.

3. Personal computer ..... on a desktop.

4. Each type of a personal computer ..... many characteristics in common with their counterparts.
5. There are many portables ..... today.

6. CPUs, terminals, printers and storage devices can be ..... separately.

IV. Agree or disagree with the following statements:

1. All computer systems have the same five hardware components.
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2. Input/output devices receive data, enter it into the computer for processing, then send it back to
people so it can be used.

3. Storage components don’t keep data for later use.

4. Computers are general-purpose machines.

5. The machine may need to be redesigned and certainly reprogrammed.

6. We can’t say, that there are different types of computers.

V. Ask questions to which the following statements might be the answer:

1. Desktop personal computers are used for education, running a small business or in large corporation
to help office workers be more productive.

2. Laptops fall into the same general categories as desktop personal computers.

3. The workstation is a computer that fits on a desktop.

4. Workstations are designed for three major tasks.

5. A minicomputer system combined with specialized equipment and peripherals is designed to perform
a specific task.

6. A mainframe uses the same basic building blocks of a computer system: the CPU, 1/0 devices and
external memory.

VI. Answer the following questions:

. What have all computers in common?

. How can we classify computers?

. What are general /special-purpose computers used for?

. What are three primary types of personal computers?

. What is the primary difference between personal computer and workstation?

. What are major tasks of a workstation?

. What is minicomputer used for?

. What does the supercomputer differ from the general-purpose mainframe computer?

. What are two main characteristics of the supercomputer?

VII. Find the synonyms to the following words:

a component, a device, to receive, to enter, to keep, to handle,

to run, to confine, to fit, terminals, calculation

VIII. Find the antonyms to the following words:

to pay attention to, unprocessed, undirect, monotony, designed

programmed, similar, similarity, unlimited, unite, rare, single, task

together, slow, odd, number, simplicity, to destroy

IX. Match the words of the first column with those of the second one:
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1. regardless 1. ybexnath

2. to enter 2. IPOBEPSATH

3. arouting 3. MOKyMarh

4. to direct 4. OrpaHUYHUBATHCS

5. to modify 5. BXOJUTH

6. to purchase 6. BUIOU3MEHATH

7. toconvince 7. mporpaMma

8. solely 8. He oOpaiasi BHUMaHUE
9. tomonitor 9. naoHbL

10. occurrence 10. mpeacTaBsITh/ OBITH B COCTOSTHUU
11. to afford 11. MCKITFOYUTETHEHO
12. to confine 12. ynipaBusiTh

13. apalm 13. ciryuait
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X. Give the definitions to the following terms:

1. computer
2. supercomputer
3. special-purpose computer
4. general-purpose computer
5. personal computer
6. minicomputer
7. mainframe
UNIT 6
I. Look up the words in the dictionary. Write them down.
issuing commands to insert a double click
a desktop non-impact to utilize
to install a seal a beam
a strip a track apin
a wedge a slot a dot
to slide to delete an auxiliary storage
to attach a keypad density

I1. Read the text and do the exercises that follow it.
Input and Output Devices

A peripheral is a device performs input, output or storage functions and is connected to CPU. In
order for the computer to be of use to us, there must be some types of mechanism for entering data into
the computer for processing. Devices which allow the task of data entry to be performed are called input
devices.

Input we use to perform the two basic computational tasks: data entry and issuing commands. The
most widely used input device is the keyboard, which was adapted from the typewriter. The keyboard is
the standard mean for the user to input data into the computer. Unfortunately, it is not a very satisfactory
means of input because most people have little or no knowledge of the layout of a typewriter keyboard.

The keyboard itself doesn’t contain any mechanism for creating printed pages. Each time a key on
the keyboard is pressed, an electronic signal is sent to the system unit indicating which key was pressed.
The system unit and the software interpret this signal and take the appropriate action.

Some keys are added to terminal keyboards to fulfill special functions. The most important of
these is the RETURN or ENTRY key. This is pressed by the user to indicate to the computer, by the
sending of a special code, that the typed line is complete and that the computer can now analyze it.
Other keys that may be present include a delete key which when pressed deletes the character just typed,
special function keys that can be used for special purpose by different programs and one marked
CONTROL or CTRL which also has a particular function when used with other keys. Some keyboards
may also have a numeric keypad to the right of the typewriter keyboard. This may be of help when
entering numeric data.

There are three keyboard layouts. The first is the standard IBM-PC keyboard. The central portion
of the keyboard consists of the alphanumeric keys, that there are ten function keys (labeled F1 — F10) on
the top side of the keyboard, and there is a numeric keypad, much like that found on a calculator, on the
right side of the keyboard.

The function keys are keys which send special signals to the system unit. The effect of pressing a
given function key will depend on the software which is currently in use.

The numeric keypad is useful when numeric data must be entered into the computer. The numeric
keypad serves two roles. The 1st role is the digits, decimal points and addition and subtraction signs are
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active. The 2nd role is the key of the keypad are used to control the small blinking box or line on the
screen which shows the user where the next typed character will be displayed. This line is known as the
cursor. The cursor control keys are the arrows (left, right, up and down), PgUp, PgDn, Insert and Delete.
But there are several types of pointing device that are used to move the cursor and usually work in
conjunction with the keyboard. The most common pointing device is the mouse, so called because it
slides over the desktop and has a wire or ‘tail” attached to the computer.

So a mouse is a hand-held device with a small rotating ball embedded in the bottom. The mouse is
an opto-mechanical input device. It has three or two buttons which control the cursor movement across
the screen. Each software program uses those buttons differently. The Mouse’s primary functions are to
help users to draw, point and select images on the computer display by moving the mouse across the
screen. In general software programs require to press one or more buttons, sometimes keeping them
depressed or double-click them to issue changed in commands and to draw or to erase images.

The Mouse slopes gently towards the front, so fingers rest comfortably on the three (or two)
buttons which respond easily, and click when pressed. Especially this feature is helpful when user must
«double-click» the buttons to activate commands. Hardware installation is required to utilize the mouse.

Another pointing device is a trackball, which performs like a stationary upside-down mouse. A
joystick is another pointing device, one that is usually associated with playing computer games. A light-
pen is used to draw, write or issue commands when it touches the specially designed monitor or screen.
It is a pen-shaped device connected by a cable to the terminal and a thin beam of light shines from the
end. When the pen is pressed on the screen, the co-ordinates of the point are fed to the computer.

A scanner permits entering text into a computer. There are flat-bed scanners and hand-held
scanners.

Perhaps the easiest way to enter data into a computer is by speaking, called Voice Recognition.
Source data input refers to data fed directly into the computer without human intervention.

If the result of the processing is to be any use to us, the system unit must somehow convey these
results to us. Devices which are used for this purpose are called output devices. Today, most outputs are
visual in nature, produced by two devices: a video display screen monitor or a printer. Most computer
outputs come in two forms: text and graphics. A monitor may be referred to as a cathode Ray Tube
(CRT) — a vacuum tube such as the picture tube on a television set — that is used to generate the display
on most monitors. Portable computers usually rely on other, less bulky, technologies, such as liquid
crystal diode (LCD) or gas plasma displays. Each monitor has either a color or a monochrome display
and has varying degrees of picture sharpness. The sharpness or resolution of a video display is often
stated in term of the number individual dots which can be displayed on the screen. These individual dots
are called pixels (picture elements). The typical display will allow 25 rows and 80 columns of textual
material.

Printers are output devices which produce hardcopy. Printers come in all kinds of shapes and
sizes, with varying capabilities and mechanisms for printing. The important thing is the user must be
sure that the printer is appropriate to the type of output that he wishes to produce. There are three main
types of printers: a dot-matrix printer, a letter quality printer and a laser printer.

A dot-matrix printer produced output by having small pins strike a ribbon, producing a pattern of
dots on the paper. A letter quality printer uses the same technology as a typewriter, with type holding the
reserved images of fully formed characters striking the ribbon. Dot matrix printers can also produce both
characters and graphics by building a pattern of dots.

A laser printer provides high-quality non-impact printing and offers the highest quality texts and
graphics printing for the desktop. A laser printer is like a dot-matrix printer is produced by generating
patterns of dots; this is done electronically, so that the pattern can be extremely fine, making the
individual dots indistinguishable to the naked eye.
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A letter quality printer is unable to produce both characters and graphics by building a pattern of
dots, because a dot pattern is not used to produce characters. A letter quality printer allows the
production of documents with a high quality of printing at a relatively low cost.

There are another types of printers. Inkjet printers transfer characters and images to paper by
spraying a fine jet of ink. Like lasers, they are able to print many different types of fonts and graphics.

Other printers include plotters, that use colored pens for scientific and engineering drawing and
thermal printers that use heat to form a nonimpact image on paper.

Computer output can also be sent to another machine, device or computer. Computer output task
involved micrographics. Micrographics is a way to store output on a film. Output is sent to a special
machine that reduces its size and records it 10 to 20 times faster than printing.

There are two methods of storing and accessing instructions or data in auxiliary storage. One is
direct access and the other is sequential access.

Direct access, called random access, means the data is stored in a particular memory location.
Direct access storage devices or DASD are magnetic disk drives use for auxiliary storage. There are two
types of DASD: floppy disks and hard disks. Floppy disks are divided into two sizes of portable
magnetic disks, which are commonly in use. The first of these is the 5.25 floppy disk. The second of
these is the 3.5 floppy disk. Both these disks are called diskettes, because the disk material itself is a
strong, flexible (floppy) plastic. The 5.25 disk has a heavy, but flexible, plastic envelope that protects
the actual disk. The 3.5 disk has a rigid plastic casing to protect the disk.

The capacity of disks is determined by the density with which the metallic particles are placed on
the disk; so the capacity of a disk is expressed in terms of this density. A 5.25 double density disk can
hold approximately 360K bytes, a 5.25 high density disk can hold 1.2 megabytes. A 3.5 double density
disk can hold 720K bytes, a 3.5 high density disk can hold 1.44 megabytes.

Hard disks operate in a similar fashion to floppy disks, but the disk itself is made from a rigid
material — often aluminum. In most personal computers the hard disk and the hard disk drive are single
unit that is permanently installed. The hard disk is a sealed unit manufactured to fine tolerance, it can
operate at higher speed and store more data and information than floppy disk systems. A common size
for a hard disk is 40 megabytes, which can hold as much data as over double density 5.25 floppies.

On disk type storage, data is magnetically laid out in tracks and sectors. Tracks are concentric
circles on which data is recorded. Sectors are pie-shaped wedges that compartmentalize the data into the
addresses for the head to locate. Multiple head disks drives organize tracks into cylinders, a vertical
stack of tracks that make it easier for the head to locate the data.

I11. Translate these into your own language:

1. input, output or storage functions 10. a stationary upside-down mouse
2. to be of use to us 11. without human intervention

3. basic computational tasks 12. less bulky

4. the standard mean 13. naked eye

5. interpret the signal 14. spraying a fine jet of ink

6. numeric keypad 15. fonts and graphics

7. central portion 16. direct and sequential access

8. small blinking box 17. flexible, plastic envelope

9. small rotating ball embedded in the bottom

IV. Translate these into English:

1. BBOJTHOE YCTPOMCTBO 10. kypcop

2. BBIBOJTHOE YCTPOMCTBO 11. nerko nepeaBuUraeTcs no CTOIy
3. KJIaBHaTypa 12. HeobxoaumMo HaXxaTh | WM 2 KHOIIKH
4. pe3ynbTaTUBHBIE KOMAH/IbI 13. TBOWHOM IIETYOK
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. JUTSI CO3/TaHMs HalleYaTaHHBIX 00pa3oB 14. ynanuth

. cIIon 16. XKuakuif KpyuCTAIITUYECKUNA TUO]T
. CIIpaBa 17. ueTkocTh U300paKEeHUS

©O© 0 3 O

. CIIEYIOLIUITHATIEYaTaHHBIICUMBOJT
V. Fill in the gaps necessary words:
. A peripheral is a ..... that performs input/ output or ..... functions.

. Input is used to perform two basic computational tasks ..... and ..... .

. There are three keyboard ..... .

. The numeric ..... is useful when numeric data must be ..... into the computer.
. The mouse is a ..... unit with a small rotating ball.

. A user must ..... the buttons to activate the command.

. The system unit must ..... the results to us.

. Printers are ..... devices which produce ..... .

10. ..... or ..... are magnetic disk drives use for auxiliary storage.

11. The ..... of disks is ..... by the density.

12. The ..... is a sealed unit, which is installed by the manufacturer.

VI. Fill in the prepositions:

. A keyboard was adapted ..... the typewriter.

. Special function keys can be used ..... special purpose ..... different programs.
. There are 10 function keys ..... the top side of the keyboard.

. Numeric data must be entered ..... the computer.

. Joystick is usually associated ..... playing computer games.

. A scanner permits entering text ..... a computer.

. Vacuum tube is used to generate the display ..... most monitors.

. Micrographics is a way to store output ..... film.

. Floppy disks are divided ..... two sizes of portable magnetic disks.

O© 00 ~NO Ol LN K-
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10. The capacity of disks is determined by the density ..... which the metal particles are placed

disk.

VII. Find the synonyms to the following words:

a unit, a memory, a device, to permit, to correspond (to)
input/ output, to erase, a part, to direct, to slip, to insert
to transfer, to diverse, to short, to use

VIII. Find the antonyms to the following words:

to forbid, narrow, a main unit, hardly, to forget, dull

to separate, to enter commands, without results, inappropriate
to release, top, rouge, to store, a thick beam, beginning
lower speed, hard disk, inconstant, soft copy, impact
printing, low quality, expensive, to pollute

IX. Give the definitions to the following terms:

1. input device 7. a joystick

2. output device 8. voice recognition
3. a keyboard 9. printer

4. a mouse 10. hard-disk

5. a scanner 11. floppy disk

6. trackball

. BBITIOJTHATH CTIEIUATbHBIC (DYHKITHH 15. coenMHEHHBII ¢ ITOMOIIBIO Ka0eIs

. There must be some type of mechanism for ..... data into the computer for ..... .

the
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X. Which sentences don’t correspond to the sense of the text:

1. Input we use to perform the two basic computational tasks: data entry and issuing commands.

2. There are a lot of kinds of keyboards. IBM manufactures a keyboard which has a split-keypad, gently
sloping keyboard that fits more closely to natural position of your hands and wrists.

3. The most common pointing device is the mouse. The mouse’s primary functions are to help users to
draw, point and select images on the computer display.

4. There are a lot of output devices. The most convenient is when scanner, printer and fax are united
together in one.

5. There are several types of auxiliary storage. Floppy disks are divided into two sizes: 5.25 floppy disk
and 3.5 floppy disk.

XI. Answer the following questions:

1. What is the peripheral?

2. What can input units perform? Name the input units. Give them short characteristics.

3. What can the output units perform? Name them and give them short characteristics.

4. How many methods of storing and accessing instructions or data are in the auxiliary storage?

5. How many types of disks do you know? Give the features to the floppy disks, to the hard-disks.

XI1. Write the plan for retelling.

XII1. Retell the text.

UNIT 7
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
interchangeably a portion a decoder a bistable device
to retrieve a flow timing marks an adder
a reference a counter a bank

I1. Read the text and do the exercises that follow it.
The Central Processing Unit and Arithmetical Logical Unit (CPU and ALU)

It is common practice in computer science for the words ‘computer’ and ‘processor’ to be used
interchangeably. More precisely, ‘computer’ refers to the central processing unit (CPU) together with an
internal memory. The internal memory, control and processing components make up the heart of the
computer system. Manufactures design the CPU to control and carry out basic instructions for their
particular computer.

In digital computers the CPU can be divided into two functional units called the control unit (CU)
and the arithmetical-logical unit (ALU). These two units are made up of electronic circuits with millions
of switches that can be one of two states, either on or off.

The function of the control unit within the central processor is to transmit coordinating control
signals and commands. The control unit is that portion of the computer that directs the sequence or step-
by-step operation of the system, selects instructions and data from memory, interprets the program
instructions, and controls the flow between main storage and the arithmetical-logical unit.

A control unit has the following components:

a) a counter that selects the instructions, one at a time, from the memory;

b) a register that temporarily holds the instruction read from memory while it is being executed;

c) a decoder that takes the called instruction and breaks it down into individual commands
necessary to carry it out;

d) a clock, which while not a clock in the sense of a time-keeping device, does produce marks at
regular intervals.

This timing marks are electronic and very rapid.
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The arithmetical-logical unit (ALU) is that portion of the computer in which the arithmetical
operations, namely, addition, subtraction, multiplication, division and exponentiation, called for in the
instructions are performed.

Programs and the data on which the control unit and the ALU operate, must be in internal memory
in order to be processed. Thus, if located on secondary memory devices such as disks or tapes, programs
and data are first loaded into internal memory.

The primary components of the ALU are banks of bistable devices, which are called register.
Their purpose is to hold the numbers involved in the calculation and hold the result temporarily unit
they can be transferred to memory.

At the core of the arithmetical-logical unit is a very high-speed binary adder, which is used to
carry out at last the four basic arithmetical functions (addition, subtraction, multiplication and division).

Typical modern computers can perform as many as one hundred thousand additions of pairs of
thirty-two binary numbers within a second.

The logical unit consists of electronic circuitry, which compares information and makes decisions
based upon the result of the comparison. The decisions that can be made are whether a number is greater
than, equal to, or less than another number.

I11. Find English equivalents in the text:
1. Goyiee TOYHO

. BHYTPCHHSA IaMATh

. YIIPaBJIATh B 00padaThIBaTh

. CepALe KOMIIBIOTEPHON CUCTEMBI

. BBIIIOJIHATE OCHOBHBIC MHCTPYKIIUN

. MUJIJIMOHBI HepeKnquaTeneﬁ

. HepeaaBaTb KOHTPOJbHBIC CUT'HAJIbL

. 4aCTb KOMIIBIOTCPaA

. CYETYHK, KOTOPBIN BHIOUPAET HHCTPYKLIUU
. BPCMCHHO YACPIKUBATH

O 00 1 O L B W I

—_— —
—_ O

. HepcaciabIBaTh (HepeBO)II/ITI)) HWHCTPYKIUHW B MHAWBUAYAJIbHBIC KOMaHAbI

—_
[\9)

. YCTPONCTBO, KOTOPOE MOKA3bIBAET BPEMsI

—
(98]

. BO3BCACHUC B CTCIICHDb

H
o

. 3arpyKaTh

15. cpaBHUBaHME

IV. Give Russian equivalents to the following words and expressions:
. common practice

. to be used

. manufactures design the CPU

. can be divided into two functional units

. are made up of electronic circuits

. to transmit coordinating control signals

. the sequence or step-by-step operation

. to interpret the program instructions

. the flow between main storage and the ALU
10. one at a time

11. is being executed

12. rapid

13. in order to be processed

14. secondary memory device

O© 00 NOoO O W DN -

31



15. involved
16. within a second
V. Give the situations from the text in which the following words and expressions are used:

1. the words computer and processor 6. located

2. the internal memory 7. first loaded

3. the function of control unit 8. primary components
4. components 9. high-speed binary adder
5. the arithmetical-logical unit 10. electronic circuitry

VL. Fill in the blanks necessary words and prepositions:

1. More precisely, ‘computer’ refers ..... the central processing unit.

2. The CPU can also ..... information from memory and can ..... the result of manipulations back into .....
unit ..... later reference.

3. The control unit is that portion of the computer that ..... the sequence operations of the system, selects
..... and data ..... memory and controls the flow ..... main storage and the ALU.

4. Programs and the data on which the control unit and the ALU operate, must be in ..... to be processed.

5. At the core of the arithmetical-logical unit is a very high-speed.

6. Modern computers can ..... more than one hundred thousand additions ..... thirty-two bits within a
second.

7. It is common practice in computer science ..... the words ‘computer’ and ‘processor’ to be used.

VI1. Find in the text synonyms to the following words:

to define, to put in, to order, among, choice

to be situated, to fulfill, main, couple, part

VII1I. Find in the text antonyms to the following words:

external ,to join, secondary, particular, unchangeable, to take

to give, permanently, unnecessary, irregular, more, original

IX. Answer the following questions:

1. Where does the word ‘computer’ refer to?

2. How can the CPU in digital computers be divided?

3. What is the function of the control unit?

4. What components has a control unit?

5. What is the arithmetical-logical unit?

6. Where are programs and data first loaded?

7. What are the primary components of the ALU?

8. What can modern computers perform?

X. Retell the text in English.

UNIT 8
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to run RAM (random access memory) to assist
to direct Volatile memory a repository
to involve ROM (read only memory) disk drive

firmware
I1. Read the text and do the exercises that follow it.
Computer Memory
Software gives instructions that tell computers what to do. There are two kinds of software. The
first is System Software and includes programs that run the computer system or that aid programmers in
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performing their work. The second kind of software is Application Software, which directs the computer
to perform specific tasks that often involve the user.

Memory is the general term used to describe a computer system’s storage facilities. Memory’s job
IS to store the instruction or programs and data in the computer. Memory can be divided into two major
categories: 1. main memory, 2 auxiliary storage. Main memory is also called main storage, internal
storage or primary storage and is a part of the CPU. Main memory is usually on chips or a circuit board
with the other two components of the CPU. RAM for Random Access Memory, is the storage area
directly controlled by the computer’s CPU. Main Memory assists the control unit and the ALU by
serving as a repository for the program being executed and for data as it passes through. RAM or
Volatile memory so called because its contents are replaced when new instructions and data are added,
or when electrical power to the computer is shut off. RAM is read-write memory, in that it can receive
or read data and instructions from other sources such as auxiliary storage.

Another type of memory is ROM or Read Only Memory. ROM holds instructions that can be read
by the computer but no written over. ROM is sometimes called firmware because it holds instructions
from the firm or manufacturer.

Auxiliary storage, also called auxiliary memory or secondary storage, is memory that supplements
main storage. This type of memory is long-term, Nonvolatile Memory. Nonvolatile means that computer
is turned off or on.

I1. Fill in the blanks necessary words:

1. ..... gives instructions that tell computers what to do.

2. ..... directs the computer to perform specific tasks that often involve the user.
3. Memory’s job is to store ..... .

4. ..... can be divided into two main categories.

5. Main memory is usually on ..... .

6. ..... is read-write memory.
7. ... holds instructions that can be read by the computer but no written over.
8. ... is memory that supplements main storage.

9. .. means that the computer is turned off or on.

IV. Fill in the prepositions:

1. Memory can store instructions, programs, data ..... the computer.

2. Main memory is usually ..... chips or a circuit board ..... the other two components of the CPU.
3. RAM ..... random access memory is the storage area controlled ..... the computer’s CPU.

4. Memory so called because its contents are replaced, when instructions are added or when electrical
power is shut ..... .

5. ROM holds instructions that can be read, but no written ..... :

V. Find the synonyms to the following words:

a storage device, to perform, to handle, to process, a portion

to transmit, to store, a routing

VI. Find the antonyms to the following words:

to take away, to break down, secondary, external

old instructions, switch on, short-term

VI1. Which sentences don’t correspond to the sense of the text?

1. CMOS is used in PCs to store information such as the amount of installed memory.

2. Software gives instructions that tell computers what to do.

3. CMOS also contains a wonderful clock with a built-in-alarm, which we don’t get to use.

4. The Software as most intangible products is not always capable of being readily evaluated.

5. Volatile memory is replaced when new instructions and data are added.
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6. Firmware holds instructions from the firm or manufacturer.

7. CMOS memory is used on IBM compatible machines to store system information that needs to be
preserved even when the computer is turned off.

VIII. Give the definition to the following terms:

1. software 5.RAM

2. memory 6. ROM

3. main memory 7. volatile memory

4. auxiliary memory 8. nonvolatile memory

IX. Answer the questions:

1. Does software give instructions that tell computers what to do?
2. How many kinds of software do you know? What are they?

3. When do you use the term ‘memory’?

4. What is the job of memory?

5. Can you name two major categories of memory?

X. Retell the text.

UNIT 9
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
accounting to edit a folder
drafting to finance schematic
spreadsheet charts via
to gain to scatter enhance
to create a cabinet brochures

I1. Read the text and do the exercises that follow it.
Application Programs

An Application Program is a software program that performs a specific function, such as
accounting, word processing or drafting. There are some categories of application program to choose
from spreadsheet, Database Management, Computer Aided Design (CAD), Communications, Graphic
presentations, desktop Publishing, Integrated Programs, Window and Windows — based Programs.
Within each category, there are several software programs which have gained industry-wide acceptance.

Word processing: is the most common application for a personal computer. Most word
processing software programs allow us to create, edit, and save documents, along with changing the
position of the text in a document, inserting new information in the middle of the text, or removing
words and sections no longer needed. With a typewriter, you would have to re-type the entire document
after a few major changes. Given a computer, a document can be stored electronically and retrieved at
any time for modification.

Examples of word processing programs include: — Word Perfect; -MS-Word; —Multimate; —
Wordstar; —Displaywrite; ~Word for Windows; ~Word Perfect for Windows.

Accounting and spreadsheets: One of the primary functions of the first mainframe computers
was to store and calculate volumes of financial data for banks and large businesses. Nowadays, a
personal computer is capable of handing the accounting and finances of almost any small to medium-
sized business. Many different programs are available for plotting financial trends and performing
everyday bookkeeping functions. One of the most popular financial tools is called a spreadsheet. An
electronic spreadsheet is a software program, which performs mathematical calculations and ‘want — if’
analysis. Besides replacing your pencil and calculator for solving financial and statistical problems,
spreadsheets can display line graphics, bar chats, and scatter plot diagrams. Often accounting and
spreadsheet programs are designed to work together, in efforts to provide the financial solution.
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Examples of accounting programs include: ACCPAC Simply Accounting, ACCPAC plus,
Business Vision Turbo, New Views Accounting, Great Plains, Dac Easy, Peach Tree, Abacus II.

Examples of spreadsheet programs include: Lotus 1-2-3, MS-Exel, Quatro Pro, Supercale.

Database Management. A database is a simply collection of related information. Some common
examples are a phone book, an inventory list, a personal file. A Database Management Software
program assists in manipulating and organizing the information in a database. A database application is
any task ordinarily handled by a filing cabinet, multiply file folders, or some other information storage
system. In a manual system, for example, each drawer in filing cabinet is reserved for a specific
purpose, such as maintaining profile sheets on customers. Each profile is written on a standard form and
a clerk places the file folder in the drawer. This manual process is identical to a computerized database,
where the database software performs the function of the filing clerk. Rather that placing the customer
profiles in the filing cabinet drawer, a computerized database stores each profile electronically on a disk.

Some examples of a database management programs: Dbase, R:BASE, Paradox, FoxPro,
Q&A, Oracle.

Computer Aided Design. Computers are the perfect tools for creating drawing or architectural
plans. Because the drawings can be saved, it is easy to incorporate modifications, design improvements
and corrections. Computers are often used on the final process of converting a computer drawing into a
physical product. One such example is the manufacturing of electronic circuit boards. First, the
electronic circuit drafting program produces the schematic design, then a second program tests the
design by simulating the circuit’s operation, and finally a third program constructs the circuit board from
the design layout.

Computer Aided Design programs are: AutoCAD, TANGO, PCAD, Generic CAD.

Communications: Computers can communicate with each other via regular telephone lines and
modems. Communication software programs enable different types of computers to exchange data using
a common language. The IMB PC can actually emulate various types of equipment, around the world,
with the help of software. Communication programs are: Smartcom, Kermit, Crosstalk, PC Talk, Pro
Comm, PC Anywhere, CloseUp.

Graphic Presentations: There are actually some people, who prefer to look at 14 columns of
numbers across several pages for analyzing a business’ performance. These people are called
accountants. However, most people are visual learners of diagrams, graphs and charts for representing
numerical trends. There are a variety of programs for displaying information graphically: —Lotus 1-2-3,
Exel, Quatro Pro, Chartmaster, Chart, Harvard Graphics, MicrografixPowerpoint, DrawPerfect.

Desktop Publishing is the process of taking a document and inserting graphics and applying
enhanced formatting options. These programs take text from the more common word processor and
produce print-shop quality output. Desktop publishing programs are used to create newsletters,
brochures, reports, book and other publications.

Desktop publishing programs include: Aldus PageMaker, Ventura Publisher, AMI Professional.
Integrated Programs: they unite one or more of the primary computer applications, whether word
processing, spreadsheet or database into a single package. These programs allow people to experiment
with the major computer applications, while only investing in a single product. The post popular
integrated programs are: —-MS-Works, Q&A, Eight in one, Symphony, Framework.

Microsoft Windows. Windows is a program, which enhances many aspects of using a
microcomputer. It provides a graphical user interface (GUI and pronounced «Gooey») for programs
running under the Windows environment. In other word, Windows allows a person to use a mouse and
choose special symbols to point at and select desired functions, rather than having to remember
commands. As well Windows’ products allow a WYSIWYG (‘what you see is, what you get’) screen
display, especially important for word processing and desktop publishing programs.
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Here are some examples of Window — based products:
1. Word Perfect for Windows (word processing).
MS-Word for Windows (word processing).
MS-Exel for Windows (spreadsheet).
Aldus Page Maker (desktop publishing).
AM I Professional (wordprocessing).
6. ACCPAC SimplyAccounting (accounting).
I11. Translate these into your own language:
. software program
. application program
. Industry-wide acceptance
. along with changing the position
. no longer needed
. to re-type the entire document
. calculate volumes of financial data
. bookkeeping functions
. to assist in manipulating and organizing the information
10. perfect tools
11. program tests the design
12. emulate various types
13. select desired functions
IV. Find English equivalents to the following words and expressions in the text:
. BBITIOJHATH crielu(puuecKyro ¢ yHKITHIO
. CaMasd paclIpoCTpaHCHHAA IIPUKIIaAHAasA IIpOorpaMMa

ok~ wnN

©O© 00 N O Ol WDN K-

. CO3/1aBaTh, PeIAKTUPOBATh, COXPAHITH IOKYMEHTHI

. BCTaBJISITh HOBYIO HH(GOPMAIUIO

. YIAISTh CJI0Ba, KOTOPBIE OOJIBIIE HE HY>KHBI

. MOKET COXPAHHUTHCS IIEKTPOHHO

. IOJIyYUTh B J1I000€ BpeMs

. OBITH CITOCOOHEIM, OBITE B COCTOSIHUM YTO-JTHOO BBIIOIHSITE

O 00 3 N L A W N =

. PY4HOM mporuecc

10. mact

11. ucnonp3yercs, 4ToObI CO3AAThH

12. MO3BOJIACTIIIOAAIMOKCIICPUMCHTUPOBATD

13. BeIOpath

V. Finish the sentences according to the text.

1. An application program is a software ..... .

2. Word processing software programs allow us ..... .

3. An electronic spreadsheetis a ..... .

4. A data base application is any task ..... .

5. Computers are perfect tools for ..... .

6. Communication programs enable different types of computers ......
7. There are some people who prefer to look at 14 columns of numbers across several pages for ..... :
8. These programs take text from the more common word processor and ..... :

9. Windows allows a person ..... .

VI. Give appropriate definitions and examples of the following application programs:
1. word-processing 5. communications



2. accounting and spreadsheets 6. graphic presentations

3. database management 7. desktop publishing

4. computer aided design 8. Microsoft Windows

VII. What kind of programs do you choose to perform the following tasks:
1. to create, edit and save documents;

2. to make a phone book, inventory list, a personal file;

3. to store and calculate volumes of financial data for banks;

4. to use a mouse and choose special symbols to point at and select desired functions;
5. to create drawings or architectural plans;

6. to communicate with other persons via regular telephone to exchange data using a common language;
7. to unite one or more of the primary computer applications.

VI11. Answer the questions:

1. What is an application program?

2. What does word processing software program allow to do?

3. What was one of the primary functions of the first mainframe computers?
4. What is a personal computer capable doing now?

5. What is spreadsheet?

6. What is database?

7. What are the perfect tools for creating drawings?

8. What are desktop publishing programs used to?

9. What is windows?

IX. Give a short summary of the text.

UNIT 10
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
flipping toggle to comprise a notation to issue ambiguity
awkward to declare a source a compiler to retrieve

I1. Read the text and do the exercises that follow it.
Programming Languages

Programming has been with us for over 40 years but it wasn’t born at the time as the first
computers. When the first early computers were built, there were no programming languages. First
machines were initially programmed by flipping toggle switches and changing cables. Needless to say,
this was a slow, awkward process. People began quickly searching for a better, faster way to issue
instructions to the computer.

The result was what we call Programming Languages. The programming languages fall into three
general categories. They are comprised of ones and zeros, and are directly understood or executed by
hardware. Electronic circuitry turns these 0s and 1s into the operations the computer performs.

Assembly Languages are powerful programming tools because they allow programmers a large
amount of direct control over the hardware. They offer programmers greater ease in writing instructions
but preserve the programmer’s ability to declare exactly what operations the hardware performs.
Assembly languages are machine-specific, or machine-dependent. Machine-dependent means the
instructions are specific to one type of computer hardware. Assembly languages are still provided by
most computer manufacturers — they can’t be translated and used on another computer.

Assembly code for a Prime mini won’t work on a Digital mini. Assembly code can’t even be
transferred between some machines built by the same manufacturer. For the most part, assembly
languages are used by systems programmers to develop operating systems and their components.
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So Assembly languages were the first bridge between the English Language and the computer’s
binary language. The creation of high-level programming languages followed. A high-level language is
a language in which each instruction or statement correspond to several machine code instructions.

As high-level languages are a method of writing programs using Englishlike words as instructions,
they allow users to write in a notation with which they are familiar, e.g., Fortran in mathematical
notation, Cobol in English.

High-level programming languages combine several machine language instructions into one high-
level instruction. Low-level languages required only a single letter or a short mnemonic a term, or a
word that is easy to identify, such as ADD for addition. High-level language requires just a single
statement.

A Statement is an expression of instruction in a programming language. For example, PRINT
FILE, TXT is a statement. A statement translates into one or more instructions at the machine language
level. Each programming language includes a set of statement and a syntax. Syntax is the set of rules
governing the language’s structure and statements. The syntax rules may include how statements are
written, the order in which statements occur, and how sections of programs are organized.

FORTRAN was created in 1954 by John Backus. And it was one of the first high-level languages
for FORmularTRANSslator. Fortran allows programmers to calculate complex formulas with a few
source code instructions. It is used for scientific and mathematical problems. The source program is
written using combination of algebraic formulas and English statements of a standard but readable form.

Another high-level machine language is Cobol. Cobol was developed by the Conference on Data
Systems Languages. Cobol was issued by the US Government Printing Office in 1960. Cobol stands for
Common Business-Oriented Language. The source program is written using statements in English. It
was made for business industry, government and education applications. This means that Cobol «has a
place for everything» and requires programmers to «put everything in its place». Cobol programs are
separated into four sections, called divisions:

1. The Identification Division (pasmenmuaentudukamuu) documents the program name, the
programmer’s name (s), dates and any other important identification information.

2. The Environment Division (pazaeno6opymnoBanusi) names the computer hardware, including the CPU
and 1/O devices.

3. Data Division (pasazennannbix) identifies all associated files and working storage sections of the
program.

4. The Procedure Division contains all the instructions in the Cobol program.

Cobol divisions are further divided into paragraphs and sections. This structure helps
programmers write code efficiently and with a minimum of repetition and confusion.

Algol was developed as an international language for the expression of the algorithms between
individuals, as well as programming language. It was introduced in the early 1960s. Algol stands for
ALGOrithmic Language. This language is used for mathematical and scientific use. An Algol program
consists of data items, statements and declarations, organized into a program structure BASIC or the
Beginners AU-purpose Symbolic Instruction Code, was developed over a period of years by professors
John Kemeny and Thomas Kurtz and students in the computer science program at Dartmouth College. It
was released in 1965. In most versions, BASIC is an unstructured language. The original Basic was easy
to learn allowing computer users to write simple programs within a few minutes.

Basic uses five major categories of statements:

— Arithmetical statements allow users to use Basic like a calculator

— Input/ Output statements, including READ, DATA, INPUT and PRINT

— Control statements including GOTO, IF-THEN, FOR, NEXT and END control the sequence of
instructions executed by the computer
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— Other statements help document Basic programs and set up data dimensions respectively
— System Commands tell the operating system how to work with Basic programs
RUN means execute a program
LIST directs the computer to display a Basic program.

I1. Fill in the gaps necessary words or expressions:

1. First machines were ..... by flipping toggle switches and ..... .

2. The programming languages fall into ..... .

3. They are comprised of ..... and ..... :

4. ..... are powerful programming tools.

5. Machine-dependent means ..... .

6. A high-level language is a language in which ..... .

7. ... IS an expression of instruction in a programming language.

8. ..... allows programmers to calculate complex formulas with a few source code instructions.

9..... stands for ALGOrithmic Language.

10. Basic uses ..... .

IV. Fill in the prepositions:

1. Programming has been ..... us for over 40 years.

2. People began searching ..... a better, faster way to issue instructions to the computer.

3. They offer programmers greater ease ..... writing instructions.

4. Assembly code ..... a Prime mini won’t work ..... a Digital mini.

5. Assembly languages were the first bridge ..... the English Language and the computer’s binary

language.

6. A statement translates ..... one or more instructions ..... the machine language level.

7. System Commands tell the operating system how to work ... Basic programs.

V. Find the synonyms to the following words:

to execute, a tool, to allow, to preserve a notation, to issue, to differ

VI. Find the antonyms to the following words:

to die, to be destroyed, important, slowly, indirectly, difficulty

low level, unfamiliar, high level, to unite

VII. Give appropriate definition of the following terms:

1. programming languages

2. Assembly Language

3. Cobol

4. Algol

5. Basic

VIII. Give the situation from the text in which the following words and expressions are used:

. for over 40 years

. slow, awkward process

. three general categories

. a large amount of direct control

. machine-dependent

. to develop operating systems and their components

. combine several machine language instructions

. a set of statements

. a few code instructions

10. write code efficiently

IX. Answer the questions:

O© 00 NO Ol WN -
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. How were the first computers programmed?

. What is an example of assembly language?

. What does the term machine-dependent mean?

. What is an assembly language primary used for?
. What is a high-level language?

. What does it combine?

. What is a statement/syntax?

. When was FORTRAN created? What is Fortran?
. When was Cobol created? What is Cobol?

10. How many sections are Cobol separated into?
11. What is Algol (when was it developed and for what)?
12. What is Basic?

13. What are major categories of Basic?
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2.2 K104 U1 OeHKH NMPAKTHYECKOT0 32 IaHUsA
OnennBaHHe KAXKI0I0 3aJaHNSA .

JeiicTBus Onenka
OOyyaromuiicss BBIIOJHWI 3aJadyy B IOJIHOM 00beMme, T.e. (pOopMysbl IPUMEHEHBI
NPaBUIBHO, PACUeT BHIMOJHEH 0e3 apu(hMETHUECKUX OMMOOK, CeaHbl TPABUIHHBIE 5
BBIBOJIBI 110 pe3yJIbTaTaM PELICHUs 3a0a4H.
OOyuaromuiics BepHO NpUMEHWI (HOPMYJbl, HO HEBEPHO pPACCUMUTAN IOKA3aTesn
(apudmernyeckue OWIMOKM), CJlIeNaHbl MpaBUIbHBIE BBIBOABI 10 pe3ylbTaTam 4
pelLIeHus 3aauu.
OOyuarouuiics He BepHO MpUMEHWI (GOPMYNbl, pacdyeT BBIIOJHEH 0Oe3
apu(METHUECKUX OMMOOK, C/IEIaHbI MPABIIIbHBIC BHIBOABI TI0 PE3YJIbTaTaM PEIICHUS 3
3a7a4i.
OOyuvaromuiics He BEpHO MNPUMEHWI (QOpPMyNbl, pacyeT BBIIOJHEH C
apu(METHUECKUMH OIMOKAaMH, CAETaHbl HE MPAaBHIbHBIC BBHIBOJIBI IO PE3yJIbTaTaM 2

pelmiCHUs 3aJa4r NI OTCYTCTBYCT PCIHICHUC

2.2.1 Bonpochl 1151 NOATOTOBKH K M (¢epeHIHPOBAHHOMY 3a4eTy 10 JMCHHUIIIMHE
OI'C3.04 UnocTpaHHBIIi s13bIK B NPO(eCcCHOHAIBLHOI 1eTeJbHOCTH

AJIs oﬁyqammnxm CIICHUAJBbHOCTH

09.02.07 «AndopmanuoHHbIe CHCTEMBbI U IPOTPAMMHUPOBAHHE).

Mexaynapoanoe obmenue. [IpeacraBieHue u 3HaKOMCTBO
[Tpodeccun. Ipodeccronanbupie kKauyecTBa

Hctopus co3ganusi KOMIIbIOTEpa

HedopmanbHbliii pa3roBop Ha U3BECTHBIE OBITOBBIE TEMBI
[TepcoHaNbHBIN KOMITBIOTED

OcCHOBHBIE BUIbI IEPCOHAIBHBIX KOMIIBIOTEPOB

ArnmnapaTHoe obecrieueHue

[IporpammHuoe obecrieuenre. Bunbl mporpaMm, ux pacrupeaeicHue
. OnepanoHHBIE CUCTEMBI

© o Nk wdPE

10. TIporpamMmupoBaHue




11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.

S3pIKM IpOrpaMMHUPOBaHUS

IIpoexkTrpoBaHue MPOrpaMMHOTO MPOAYKTa
Mup cereBoii nHpopmManuu

SI3pIK iporpammupoBanus Pascal

s3Ik iporpammupoBanus Delphi

S3b1k nporpammupoBanus C+

ba3sl naHHbBIX

HNutepner

Hcnonb30BaHne pecypcoB MUHTEpHETA

Amnanus qu3aiHa canTta

Tectuposanue 110 1 HHPOPMALMOHHBIX CHCTEM
VYrpaBineHue kauecTBOM MPOrpaMMHOTO o0ecTieueHus
Bynyiee KOMIBIOTEPHBIX TEXHOJIOTUM
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3. CIIMCOK UH®OPMALIMOHHBIX NICTOYHUKOB

[lepeueHbp peKOMEHIyEeMBIX YUeOHBIX U3AaHUM, VIHTepHET-pecypcoB, JONOIHUTEIBHOM
JTUTEPaTyphl

OcHoBHasl JuTepaTypa:

1. AHTIIMIACKUH SI3BIK I TEXHHYECKHUX crenuaibHocTel: yueoHoe nmocoodue / C.C. JIuTBuHCKas
— MockBa: THOPA-M, 2022. — 252 c. — (Cpeanee npodeccrnonansHoe oopaszoBanue). — ISBN 978-5-
16-014535-8. — URL: https://znanium.com/catalog/product/1694420.

2. Awnrmmiickmii  s3pIk. General English: y4eObHuk nmns  cpemgnero mnpodeccrnoHaIBHOTO
obpazoBanust / B. B. JleBuenko, E. E. Jlonranéra, O. B. MemepskoBa. — Mocksa: M3natenbcTBo
Opaiit, 2020. — 127 c¢. — (Ilpodeccuonanbroe obpazopanme). — ISBN 978-5-534-11880-3. — URL:
https://urait.ru/bcode/451034.

3. AHIIUHCKHMI S3BIK I KOJUICIKEH: ydyeOHOe mocoOue Uil cpelHero mpodeccHoHaIbHOTO
obpazoBanms / A. C. M3Bonenckas, E. O. Koxapckas; nox penakiueit JI. B. I[Tony6nuenko. — Mocksa:
NznarensctBo FOpaiit, 2020. — 184 ¢. — (IlpodeccuonanpHoe oopa3zoBanue). — ISBN 978-5-534-09287-
5. — URL.: https://urait.ru/bcode/455449.

JlonoJIHUTeIbLHAS JIUTepaTypa:

1. AxDmiickmii s3eik s W T-cmenmanpHOCTEH: ydeOHOE TOCOOWEe Il CPETHEro
npodeccronanbHoro oopazosanus / O. H. CroruueBa. — MockBa: M3narensctBo FOpaiit, 2022. — 143 c.
— (ITpodheccronanpHoe oOpa3oBaHue). — ISBN 978-5-534-07972-2. — URL:
https://urait.ru/bcode/493233

2. Auramiickuii s3pIK: yuyeOHoe mocoOue / 3.B. ManbkoBckas. — Mocka: UTHOPA-M, 2022. —
200 c. — (Cpennee mpodeccuonaipHoe obpaszoBanue). — DOl 10.12737/22856. — ISBN 978-5-16-
012363-9. — URL.: https://znanium.com/catalog/product/1779974.

HNurtepuer-pecypebl:  Ilepeyens HHTepHeT-pecypcoB, HeO00XOAMMBIX /I OCBOCHMA
AUCHUTLTHHBI

Jns  ocyuiecTBieHHs 00pa30BaTEIbHOrO Ipoliecca IO AMCHMILIMHE, HCIONb3YIOTCS
CJIEIYIOIME IEKTPOHHBIE OnbuoTeynbie cucteMsl (OBC):

1. https://znanium.com/

2. http://urait.ru//

3. https://e.lanbook.com/

Jns  ocymecTBieHuss 00pa30BaTE€IbHOTO TMpolecca IO AWCHUILIMHE, HCIOIb3YIOTCS
cnenyromue mpodeccuoHanbHbIe 0a3bl TaHHBIX:

1. Uzyuyenue anrnuiickoro si3bika http://www.abc-english-grammar.com/

2. OHnaifH-3aHATHS 10 ayAMPOBAHHUIO HAa aHIVIMWCKOM s3bIKe Ui yuamuxcs https://www.esl-
lab.com/

3. AHrnuiickui s3Ik OHNAMH https://www.native-english.ru/.
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